HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375
Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

1. Planning Information

A. Effectivity

(1) Tanis Aircraft preheat kits, accessories, and replacement parts are affected by
this Service Letter.

WARNING: DO NOT USE OBSOLETE OR OUTDATED INFORMATION.
PERFORM ALL INSPECTIONS OR WORK IN ACCORDANCE WITH
THE MOST RECENT REVISION OF THIS SERVICE LETTER.
INFORMATION CONTAINED IN THIS SERVICE LETTER MAY BE
SIGNIFICANTLY CHANGED FROM EARLIER REVISIONS. FAILURE
TO COMPLY WITH THIS SERVICE LETTER OR THE USE OF
OBSOLETE INFORMATION MAY CREATE AN UNSAFE CONDITION
THAT MAY RESULT IN DEATH, SERIOUS BODILY INJURY, AND/OR
SUBSTANTIAL PROPERTY DAMAGE. REFER TO THE SERVICE
LETTER INDEX FOR THE MOST RECENT REVISION LEVEL OF
THIS SERVICE LETTER.

B. Concurrent Requirements

(1) Additional service documents may apply to the components affected by
this Service Letter. Compliance with additional service documents may be
necessary in conjunction with the information in this Service Letter. Refer to
the Tanis Aircraft website at www.tanisaircraft.com for information related to
Tanis Aircraft service documents.

C. Reason

(1) Tanis Aircraft preheat kits, accessories, and replacement parts may be marked
or identified in the product documentation with either the Tanis part number or
the Hartzell Propeller Inc. part number.

(@) The Hartzell part number must be used when ordering the part from
Hartzell Propeller Inc. or from a Hartzell-approved distributor.

June 02, 2023 HC-SL-61-375

Page 1 of 62
© 2023 - Hartzell Propeller Inc. - All rights reserved



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375
Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference
D. Description
(1) This Service Letter provides Additional Maintenance Information (AMI).

(2) This Service Letter provides a Tanis/Hartzell part number cross-reference table
for Tanis Aircraft preheat kits, accessories, and replacement parts.

E. Approval
(1) This technical document is approved by Hartzell Propeller Inc.

2. Tanis/Hartzell Part Number Cross-Reference

A. Part Number Cross-Reference Table Arrangement
(1) Table 1 in this Service Letter consists of three columns of information:

(a) Tanis Part Number: This column identifies the part number originally
used by Tanis Aircraft Products.

(b) Hartzell Part Number: This column identifies the Hartzell Propeller Inc.
part number equivalent for the Tanis part number on the same line.

(c) Description: This column provides the part name that, together with the
part number, are used to identify the component or part.

B. Using the Part Number Cross-Reference Table
(1) Locate the Tanis Aircraft part number in Table 1 of this Service Letter.

(2) The equivalent Hartzell Propeller Inc. part number is identified on the same
line as the Tanis part number.

(@) Use the Hartzell part number when ordering the part from Hartzell
Propeller Inc. or from a Hartzell-approved distributor.

C. Contact Information

Hartzell Propeller Inc.

dba Tanis Aircraft

5465 West State Route 185
Piqua, Ohio 45356-2634 USA
Phone: (001) 952.224.4425
Fax: (001) 952.224.4426
E-mail: info@tanisaircraft.com

June 02, 2023 HC-SL-61-375
Page 2 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

01000-0000 TA01000-0000 GROMMENT, BRASS, SIZE 0

02007-M TA02007-M MACHINED METAL ELEMENT BODY
02007-QPQ TA02007-QPQ MELONITE TREATED METAL ELEMENT BODY
02119-M TA02119-M MACHINED METAL ELEMENT BODY,ED
02428-M TA02428-M MACHINED METAL ELEMENT BODY,ED
02768-M TA02768-M MACHINED METAL ELEMENT BODY,ED
02806-M TA02906-M MACHINED METAL ELEMENT BODY,ED
02811-M TA02811-M MACHINED METAL ELEMENT BODY,ED
02811-QPQ TA02811-QPQ MELONITE TREATED METAL ELEMENT BODY
02891-M TA02891-M MACHINED METAL ELEMENT BODY,ED
02891-QPQ TA02891-QPQ MELONITE TREATED METAL ELEMENT BODY
02895-M TA02895-M MACHINED METAL ELEMENT BODY,ED
02906-H TA02906-H HEAT TREATED ELEMENT BODY

02929-1 TA02929-1 PLATE, MOUNTING

02933-1 TA02933-1 BRACKET, TAIL BOOM

02933-2 TA02933-2 BRACKET, TAIL BOOM, RH

02933-3 TA02933-3 BRACKET, TAIL BOOM, LH

02935-3 TA02935-3 DOUBLER

02935-4 TA02935-4 DOOR

02935-5 TA02935-5 BOX, MOUNTING

02935-6 TA02935-6 PLATE

02935-7 TA02935-7 SHIM

02935-8 TA02935-8 HINGE

02935-9 TA02935-9 PLATE, BLANKING

02942 TA02942 DOOR, SHORE POWER, ONE STATION

02946 TA02946 HINGE, SHORE POWER, ONE STATION
02947 TA02947 PANEL, SHORE POWER, ONE STATION
02950 TA02950 BRACKET, TAIL BOOM

02960 TA02960 HINGE

02967 TA02967 BRACKET, CONNECTOR

02994-H TA02994-H THREADED ELEMENT BODY,HT

02994-M TA02994-M THREADED ELEMENT BODY, MACHINED
02995 TA02995 MACHINED METAL ELEMENT BODY, ED
03003 TA03003 MACHINED METAL ELEMENT BODY, PLUG INSERT
03019-BODY TA03019-BODY MACHINED METAL ELEMENT BODY,ED
03037-D TA03037-D THREADED ELEMENT BODY, DRILLED

03040 TA03040 WASHER, DELRIN

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 3 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375
Tanis Aircraft Products/Hartzell Propeller Inc.

Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

03102-H TA03102-H HEAT TREATED ELEMENT BODY
03102-M TA03102-M MACHINED METAL ELEMENT BODY,ED
03110-115 TA03110-1 CARTRIDGE HEATER, 200 WATT, 115V
03110-230 TA03110-2 CARTRIDGE HEATER, 200 WATT, 230V
03112-H TA03112-H THREADED ELEMENT BODY, HT
03112-M TA03112-M THREADED ELEMENT BODY, MACHINED
03125-1 TA03125-1 PLATE, MOUNTING

03210 TA03210 FUSE HOLDER BODIES, 03210 A&B
03216-115 TA03216-1 CARTRIDGE HEATER,50 WATT, 115V
03216-230 TA03216-2 CARTRIDGE HEATER,50 WATT, 230V
03218 TA03218 PAD - TEST COUPON

03221-H TA03221-H HEAT TREATED ELEMENT BODY
03221-M TA03221-M MACHINED METAL ELEMENT BODY,ED
03233-H TA03233-H HEAT TREATED ELEMENT BODY
03233-M TA03233-M MACHINED METAL ELEMENT BODY,ED
03234 TA03234 THERMOSTAT, ADJUSTABLE

03244 TA03244 LEADS, 22759/8-20-9

03245 TA03245 28MM SPRAYER, WITH DIP TUBE
03250 TA03250 THERMOSTAT

03287-H TA03287-H HEAT TREATED ELEMENT BODY
03288-H TA03288-H HEAT TREATED ELEMENT BODY
03289-H TA03289-H HEAT TREATED ELEMENT BODY
03292-115 TA03292-1 CARTRIDGE HEATER,75 WATT, 115V
03292-230 TA03292-2 CARTRIDGE HEATER- 75 WATT- 230 VOLT
03295-115 TA03295-115 UNTERMINATED PAD

03295-230 TA03295-230 UNTERMINATED PAD

03308-115 TA03308-1 CARTRIDGE HEATER,50 WATT, 115V
03308-230 TA03308-2 CARTRIDGE HEATER,50 WATT,230V
03388-115 TA3388-115 UNTERMINATED BELT

03388-230 TA3388-230 UNTERMINATED BELT

0413-217-1605 TA0413217160 SEALING PLUG - CONNECTOR
0429120 TA0429120 HOSE CLAMP,SS,9/16,#24,1-2INCH
0460-202-16141 TA0460-202 SOLID PIN CONTACT

0460-215-16141 TA0460-215 SOLID PIN CONTACT, NICKEL
0462-201-16141 TA0462-201 SOLID SOCKET CONTACT
0462-209-16141 TA0462-209 SOLID SOCKET CONTACT, NICKEL
06034-50 TA06034-50 PAD ELEMENT - UNFINISHED

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375

Page 4 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375
Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

06044-001 TA06044-001 REMOTE ANTENNA BRACKET WITH MAGNET

06067 TA06067 SWITCHEON DC-2 CHANNEL BOARDS

1004-DC TA1004-DC THREADED ELEMENT BODY, CBORE

1004-DS TA1004-DS THREADED ELEMENT BODY, DRILLED

1004-G TA1004-G THREADED ELEMENT BODY, GROUNDED

1004-M TA1004-M MACHINED METAL ELEMENT BODY,ED

1004-U TA1004-U THREADED ELEMENT BODY,UNGROUND

1006 TA1006 THREADED ELEMENT BODY, MACHINED

102405 TA102405 CAP, TETHERED

1046 TA1046 DIELECTRIC GREASE, 2 GRAM

1050C1 TA1050C1 INDICATOR LIGHT, PANEL MOUNT

1050QC1 TA1050QC1 INDICATOR LIGHT, PANEL MOUNT

1053-1116-ND TA1053-1116 FAN MOTOR, DEHYDRATOR REPLACE

1056-C TA1056-C GASKET, CERAMIC

1060-14-0122 TA1060-14-01 STAMPED PIN CONTACT, 2 WIRE

1060-16-0622 TA1060-16-06 STAMPED PIN CONTACT

1062-14-0122 TA1062-14-01 STAMPED SOCKET CONTACT, 2 WIRE

1062-16-0122 TA1062-16-01 STAMPED SOCKET CONTACT

1062-16-0622 TA1062-16-06 STAMPED SOCKET CONTACT

112CC TA112CC ANTI-SEIZE, 2 GRAM

11945A11 TA11945A11 PULL HANDLE, BLACK PLASTIC

12622-001 TA12622-001 WASHER, FIBER

12645-002 TA12645-002 CABLE PASS - THROUGH

1823111-1 TA1823111-1 SEAL - SINGLE WIRE

1892070 TA1892070 DOW 732, 10.1 0Z

1PB5 TA1PB5 SWITCH, PUSH BUTTON,5 AMP,250V

2025 TA2025 PLUG MOUNT

2055 TA2055 MACHINED METAL PLUG CAP, THREADED INSERT

2087-0945 TA2087-0945 HEATING ELEMENT,480V,4000WATT

210820 TA210820 BUSHING

2110AX3 TA2110AX3 INDICATOR LIGHT, NEON, AMBER

212-12D TA212-12D RECEPTACLE, CAMLOC, 1/4 TURN

212-12S TA212-12S RECEPTACLE,CAMLOC,1/4 TURN, SS

2147-J TA2147-J WASHER T- COUPLE J TYPE GROUNDED - RED/WHT OR
BLK/YEL

2147-JUG TA2147-JUG WASHER T- COUPLE J TYPE UNGROUNDED - RED/WHT OR
BLK/YEL

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

June 02, 2023 HC-SL-61-375
Page 5 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375
Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

2147-K TA2147-K WASHER T- COUPLE K TYPE GROUNDED - RED/YEL

2147-KUG TA2147-KUG WASHER T- COUPLE K TYPE UNGROUNDED - RED/YEL

22759/8-20-9 TA22759/8209 CABLE, 20 AWG, 19/32 NPC WHITE

22759-181 TA22759-181 WIRE, 18 GAUGE, 260C, GREEN

22759-182 TA22759-182 CABLE, RED, M22759/187-18-2

232-3979 TA232-3979 GRIP FASTA® #6 GRADE 2 ZINC FLAT WASHER - 75 COUNT

233-8746 TA233-8746 GRIP FASTA® #6-32 X 1" COMBO DRIVE ZINC ROUND HEAD
MACHINE SCREW - 150 COUNT

24-7068-7607 TA24-7068-7607 SOLDER (KESTOR)

2600-11SW TA2600-11SW CAMLOC, WINGED 1/4 TURN, SS

2600-5SW TA2600-5SW STUD, WINGED, 1/4 TURN, CAMLOC

2600-5W TA2600-5W STUD, 1/4 TURN, #5, CAMLOC

2600-9SW TA2600-9SW CAMLOC, WINGED 1/4 TURN, SS

2600-LW-7 TA2600-LW-7 WASHER, RETAINING

2614T57 TA2614T57 SILICONE RUBBER, HI TEMP, 1/16

2643-115 TA2643-115 UNTERMINATED BELT

2643-230 TA2643-230 UNTERMINATED BELT

2644-115 TA2644-115 UNTERMINATED BELT

2644-230 TA2644-230 UNTERMINATED BELT

2646-115 TA2646-115 UNTERMINATED BELT

2646-230 TA2646-230 UNTERMINATED BELT

2647-115 TA2647-115 UNTERMINATED BELT

2647-230 TA2647-230 UNTERMINATED BELT

2648-115 TA2648-115 UNTERMINATED BELT

2648-230 TA2648-230 UNTERMINATED BELT

2649-115 TA2649-115 UNTERMINATED PAD

2649-230 TA2649-230 UNTERMINATED PAD

2650-10 TA2650-10 SLEEVE, FIRE, 1.5 INCH

2650-115 TA2650-115 UNTERMINATED PAD

2650-18-115 TA2650-18-115 UNTERMINATED PAD

2650-18-230 TA2650-18-230 UNTERMINATED PAD

2650-230 TA2650-230 UNTERMINATED PAD

2651-115 TA2651-115 UNTERMINATED PAD

2651-230 TA2651-230 UNTERMINATED PAD

2652-115 TA2652-115 UNTERMINATED PAD

2652-230 TA2652-230 UNTERMINATED PAD

2653-115 TA2653-115 UNTERMINATED PAD

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

HC-SL-61-375
Page 6 of 62

June 02, 2023



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.

Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

2653-230 TA2653-230 UNTERMINATED PAD
2653-24-115 TA2653-24-115 UNTERMINATED PAD
2653-24-230 TA2653-24-230 UNTERMINATED PAD
2653-32-115 TA2653-32-115 UNTERMINATED PAD
2653-32-230 TA2653-32-230 UNTERMINATED PAD
2654-115 TA2654-115 UNTERMINATED PAD
2655-115 TA2655-115 UNTERMINATED PAD
2655-230 TA2655-230 UNTERMINATED PAD
2656-115 TA2656-115 UNTERMINATED PAD
2656-230 TA2656-230 UNTERMINATED PAD
2656-36-115 TA2656-36-115 UNTERMINATED PAD
2656-36-230 TA2656-36-230 UNTERMINATED PAD
2656-42-115 TA2656-42-115 UNTERMINATED PAD
2656-42-230 TA2656-42-230 UNTERMINATED PAD
2657-115 TA2657-115 UNTERMINATED PAD
2657-230 TA2657-230 UNTERMINATED PAD
2658-115 TA2658-115 UNTERMINATED PAD
2658-230 TA2658-230 UNTERMINATED PAD
2659-115 TA2659-115 UNTERMINATED PAD
2659-230 TA2659-230 UNTERMINATED PAD
2659-52-115 TA2659-52-115 UNTERMINATED PAD
2659-52-230 TA2659-52-230 UNTERMINATED PAD
2660-115 TA2660-115 UNTERMINATED PAD
2660-230 TA2660-230 UNTERMINATED PAD
2661-115 TA2661-115 UNTERMINATED PAD
2661-230 TA2661-230 UNTERMINATED PAD
2661-36-115 TA2661-36-115 UNTERMINATED PAD
2661-36-230 TA2661-36-230 UNTERMINATED PAD
2661-78-115 TA2661-78-115 UNTERMINATED PAD
2661-78-230 TA2661-78-230 UNTERMINATED PAD
2664-115 TA2664-115 UNTERMINATED PAD
2664-230 TA2664-230 UNTERMINATED PAD
2667-115 TA2667-115 UNTERMINATED PAD
2667-230 TA2667-230 UNTERMINATED PAD
2668-115 TA2668-115 UNTERMINATED PAD
2668-230 TA2668-230 UNTERMINATED PAD
2669-115 TA2669-115 UNTERMINATED PAD

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

HC-SL-61-375
Page 7 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.

Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

2669-230 TA2669-230 UNTERMINATED PAD
2670-115 TA2670-115 UNTERMINATED PAD
2671-115 TA2671-115 UNTERMINATED PAD
2672-115 TA2672-115 UNTERMINATED PAD
2672-230 TA2672-230 UNTERMINATED PAD
2672-24-115 TA2672-24-115 UNTERMINATED PAD
2672-24-230 TA2672-24-230 UNTERMINATED PAD
2673-115 TA2673-115 UNTERMINATED PAD
2673-18-115 TA2673-18-115 UNTERMINATED PAD
2673-18-230 TA2673-18-230 UNTERMINATED PAD
2673-230 TA2673-230 UNTERMINATED PAD
2673-24-115 TA2673-24-115 UNTERMINATED PAD
2673-24-230 TA2673-24-230 UNTERMINATED PAD
2674-115 TA2674-115 UNTERMINATED PAD
2675-115 TA2675-115 UNTERMINATED PAD
2675-230 TA2675-230 UNTERMINATED PAD
2675-24-115 TA2675-24-115 UNTERMINATED PAD
2675-24-230 TA2675-24-230 UNTERMINATED PAD
2675-36-115 TA2675-36-115 UNTERMINATED PAD
2675-36-230 TA2675-36-230 UNTERMINATED PAD
2675-42-115 TA2675-42-115 UNTERMINATED PAD
2675-42-230 TA2675-42-230 UNTERMINATED PAD
2677-115 TA2677-115 UNTERMINATED PAD
2678-115 TA2678-115 UNTERMINATED PAD
2678-230 TA2678-230 UNTERMINATED PAD
2679-115 TA2679-115 UNTERMINATED PAD
2679-230 TA2679-230 UNTERMINATED PAD
2680-115 TA2680-115 UNTERMINATED PAD
2680-230 TA2680-230 UNTERMINATED PAD
2681-115 TA2681-115 UNTERMINATED PAD
2681-230 TA2681-230 UNTERMINATED PAD
2681-24-115 TA2681-24-115 UNTERMINATED PAD
2681-24-230 TA2681-24-230 UNTERMINATED PAD
2682-115 TA2682-115 UNTERMINATED PAD
2682-230 TA2682-230 UNTERMINATED PAD
2683-115 TA2683-115 UNTERMINATED PAD
2683-230 TA2683-230 UNTERMINATED PAD

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 8 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.

Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

2684-115 TA2684-115 UNTERMINATED PAD
2684-230 TA2684-230 UNTERMINATED PAD
2685-115 TA2685-115 UNTERMINATED PAD
2685-230 TA2685-230 UNTERMINATED PAD
2686-115 TA2686-115 UNTERMINATED PAD
2686-230 TA2686-230 UNTERMINATED PAD
2686-72-115 TA2686-72-115 UNTERMINATED PAD
2686-72-230 TA2686-72-230 UNTERMINATED PAD
2687-115 TA2687-115 UNTERMINATED PAD
2687-230 TA2687-230 UNTERMINATED PAD
2687-72-115 TA2687-72-115 UNTERMINATED PAD
2687-72-230 TA2687-72-230 UNTERMINATED PAD
2688-115 TA2688-115 UNTERMINATED PAD
2688-230 TA2688-230 UNTERMINATED PAD
2690-115 TA2690-115 UNTERMINATED PAD
2691-115 TA2691-115 UNTERMINATED PAD
2692-115 TA2692-115 UNTERMINATED PAD
2693-115 TA2693-115 UNTERMINATED PAD
2693-230 TA2693-230 UNTERMINATED PAD
2694-115 TA2694-115 UNTERMINATED PAD
2694-230 TA2694-230 UNTERMINATED PAD
2695-115 TA2695-115 UNTERMINATED PAD
2695-230 TA2695-230 UNTERMINATED PAD
2696-115 TA2696-115 UNTERMINATED PAD
2696-230 TA2696-230 UNTERMINATED PAD
2697-115 TA2697-115 UNTERMINATED PAD
2697-230 TA2697-230 UNTERMINATED PAD
2698-115 TA2698-115 UNTERMINATED PAD
2698-230 TA2698-230 UNTERMINATED PAD
2700-115 TA2700-115 UNTERMINATED PAD
2700-230 TA2700-230 UNTERMINATED PAD
270-19 TA270-19 ZIPPER BAG, 4X8 2 MIL
270-30 TA270-30 ZIPPER BAG, 6X10 2 MIL
2703-115 TA2703-115 UNTERMINATED PAD
2703-230 TA2703-230 UNTERMINATED PAD
2703-36-115 TA2703-36-115 UNTERMINATED PAD
2703-36-230 TA2703-36-230 UNTERMINATED PAD

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 9 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.

Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

2703-42-115 TA2703-42-115 UNTERMINATED PAD
2703-42-230 TA2703-42-230 UNTERMINATED PAD
2704-115 TA2704-115 UNTERMINATED PAD
2704-230 TA2704-230 UNTERMINATED PAD
2705-115 TA2705-115 UNTERMINATED PAD
2705-230 TA2705-230 UNTERMINATED PAD
2706-115 TA2706-115 UNTERMINATED PAD
2706-230 TA2706-230 UNTERMINATED PAD
270-77 TA270-77 ZIPPER BAG, 3X5 2 MIL
2709-115 TA2709-115 UNTERMINATED PAD
2709-230 TA2709-230 UNTERMINATED PAD
2710-115 TA2710-115 UNTERMINATED PAD
2710-230 TA2710-230 UNTERMINATED PAD
2711-115 TA2711-115 UNTERMINATED PAD
2711-230 TA2711-230 UNTERMINATED PAD
2712-115 TA2712-115 UNTERMINATED PAD
2712-230 TA2712-230 UNTERMINATED PAD
2713-115 TA2713-115 UNTERMINATED PAD
2713-230 TA2713-230 UNTERMINATED PAD
2714-115 TA2714-115 UNTERMINATED PAD
2714-230 TA2714-230 UNTERMINATED PAD
2714-36-115 TA2714-36-115 UNTERMINATED PAD
2714-36-230 TA2714-36-230 UNTERMINATED PAD
2714-78-115 TA2714-78-115 UNTERMINATED PAD
2714-78-230 TA2714-78-230 UNTERMINATED PAD
2715-115 TA2715-115 UNTERMINATED PAD
2715-230 TA2715-230 UNTERMINATED PAD
2715-36-115 TA2715-36-115 UNTERMINATED PAD
2715-36-230 TA2715-36-230 UNTERMINATED PAD
2717-115 TA2717-115 UNTERMINATED PAD
2717-230 TA2717-230 UNTERMINATED PAD
2718-115 TA2718-115 UNTERMINATED PAD
2718-230 TA2718-230 UNTERMINATED PAD
2721-115 TA2721-115 UNTERMINATED PAD
2722-115 TA2722-115 UNTERMINATED PAD
2725-115 TA2725-115 UNTERMINATED PAD
2729-115 TA2729-115 UNTERMINATED PAD

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 10 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.

Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

2730-115 TA2730-115 UNTERMINATED PAD
2730-230 TA2730-230 UNTERMINATED PAD
2730-24-115 TA2730-24-115 UNTERMINATED PAD
2730-24-230 TA2730-24-230 UNTERMINATED PAD
2731-115 TA2731-115 UNTERMINATED PAD
2731-230 TA2731-230 UNTERMINATED PAD
2733-115 TA2733-115 UNTERMINATED PAD
2733-230 TA2733-230 UNTERMINATED PAD
2733-24-115 TA2733-24-115 UNTERMINATED PAD
2733-24-230 TA2733-24-230 UNTERMINATED PAD
2734-115 TA2734-115 UNTERMINATED PAD
2734-48-115 TA2734-48-115 UNTERMINATED PAD
2734-48-230 TA2734-48-230 UNTERMINATED PAD
2735-115 TA2735-115 UNTERMINATED PAD
2735-230 TA2735-230 UNTERMINATED PAD
2736-115 TA2736-115 UNTERMINATED PAD
2736-230 TA2736-230 UNTERMINATED PAD
2737-115 TA2737-115 UNTERMINATED PAD
2737-230 TA2737-230 UNTERMINATED PAD
2738-115 TA2738-115 UNTERMINATED PAD
2738-230 TA2738-230 UNTERMINATED PAD
2739-115 TA2739-115 UNTERMINATED PAD
2739-230 TA2739-230 UNTERMINATED PAD
2740-115 TA2740-115 UNTERMINATED PAD
2740-230 TA2740-230 UNTERMINATED PAD
274-03H TA274-03H ZIPPER BAG, 2.5X3 4 MIL
2741-115 TA2741-115 UNTERMINATED PAD
2741-230 TA2741-230 UNTERMINATED PAD
2742-115 TA2742-115 UNTERMINATED PAD
2742-230 TA2742-230 UNTERMINATED PAD
2743-115 TA2743-115 UNTERMINATED PAD
2743-230 TA2743-230 UNTERMINATED PAD
2743-36-115 TA2743-36-115 UNTERMINATED PAD
2743-36-230 TA2743-36-230 UNTERMINATED PAD
2743-42-115 TA2743-42-115 UNTERMINATED PAD
2743-42-230 TA2743-42-230 UNTERMINATED PAD
2747-115 TA2747-115 UNTERMINATED PAD

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 11 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.

Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

2816-115 TA2816-115 UNTERMINATED PAD
2833-115 TA2833-115 UNTERMINATED PAD
2833-72-115 TA2833-72-115 UNTERMINATED PAD
2833-72-230 TA2833-72-230 UNTERMINATED PAD
2834-115 TA2834-115 UNTERMINATED PAD
2834-36-115 TA2834-36-115 UNTERMINATED PAD
2834-36-230 TA2834-36-230 UNTERMINATED PAD
2835-115 TA2835-115 UNTERMINATED PAD
2835-72-115 TA2835-72-115 UNTERMINATED PAD
2835-72-230 TA2835-72-230 UNTERMINATED PAD
2836-115 TA2836-115 UNTERMINATED PAD
2836-36-115 TA2836-36-115 UNTERMINATED PAD
2836-36-230 TA2836-36-230 UNTERMINATED PAD
2854-115 TA2854-1 UNTERMINATED BELT
2854-230 TA2854-2 UNTERMINATED BELT
2865-115 TA2865-115 UNTERMINATED PAD
2865-230 TA2865-230 UNTERMINATED PAD
2866-115 TA2866-115 UNTERMINATED PAD
2866-230 TA2866-230 UNTERMINATED PAD
2867-115 TA2867-115 UNTERMINATED PAD
2867-60-115 TA2867-60-115 UNTERMINATED PAD
2867-60-230 TA2867-60-230 UNTERMINATED PAD
2868-115 TA2868-115 UNTERMINATED PAD
2868-36-115 TA2868-36-115 UNTERMINATED PAD
2868-36-230 TA2868-36-230 UNTERMINATED PAD
2869-115 TA2869-115 UNTERMINATED PAD
2869-230 TA2869-230 UNTERMINATED PAD
2877-115 TA2877-115 UNTERMINATED PAD
2877-230 TA2877-230 UNTERMINATED PAD
2878-115 TA2878-115 UNTERMINATED PAD
2878-230 TA2878-230 UNTERMINATED PAD
2896-115 TA2896-115 UNTERMINATED PAD
2896-230 TA2896-230 UNTERMINATED PAD
2897-24-115 TA2897-24-115 UNTERMINATED PAD
2897-24-230 TA2897-24-230 UNTERMINATED PAD
2905 TA2905 SOCKET, 1/2 INCH
2921-115 TA2921-115 UNTERMINATED PAD

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 12 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

2921-230 TA2921-230 UNTERMINATED PAD

2923-115 TA2923-115 UNTERMINATED PAD

2923-230 TA2923-230 UNTERMINATED PAD

2923-48-115 TA2923-48-115 UNTERMINATED PAD

2923-48-230 TA2923-48-230 UNTERMINATED PAD

2928-115 TA2928-115 UNTERMINATED PAD

2928-230 TA2928-230 UNTERMINATED PAD

2942 TA2942 DOOR, SHORE POWER, ONE STATION
2946 TA2946 HINGE,SHORE POWER,ONE STATION
2947 TA2947 PANEL, SHORE POWER,ONE STATION
2950 TA2950 BRACKET, TAIL BOOM

2952-84-115 TA2952-84-115 UNTERMINATED PAD

2952-84-230 TA2952-84-230 UNTERMINATED PAD

2953-72-115 TA2953-72-115 UNTERMINATED PAD

2953-72-230 TA2953-72-230 UNTERMINATED PAD

2954-84-115 TA2954-84-115 UNTERMINATED PAD

2954-84-230 TA2954-84-230 UNTERMINATED PAD

2964-72-230 TA2964-72-230 UNTERMINATED PAD

2965-72-230 TA2965-72-230 UNTERMINATED PAD

2966-115 TA2966-115 UNTERMINATED BELT

2966-230 TA2966-230 UNTERMINATED BELT

2967 TA2967 BRACKET, CONNECTOR

2969-24-115 TA2969-24-115 UNTERMINATED PAD

2969-24-230 TA2969-24-230 UNTERMINATED PAD

2970-115 TA2970-115 UNTERMINATED PAD

2970-230 TA2970-230 UNTERMINATED PAD

2971-115 TA2971-115 UNTERMINATED PAD

2971-230 TA2971-230 UNTERMINATED PAD

2995 TA2995 THREADED BODY, MACHINED
3002778 TA3002778 DISTRIBUTION BLOCK, WHITE
3002781 TA3002781 DISTRIBUTION BLOCK, BLACK

3003 TA3003 INSERT, PLUG, M12 X 1.5

3013-A TA3013-A CPD, FUSED LINK

3013-B TA3013-B CPD, VERSION (B) PROCESS

3016 TA3016 BRACKET, ADEL

3018 TA3018 CAP, TETHERED, WITH SNAP RING
3032 TA3032 MACHINE SOCKET- SLOTTED - 11MM

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 13 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

3033-115 TA3033-115 UNTERMINATED PAD

3033-230 TA3033-230 UNTERMINATED PAD

3034-115 TA3034-115 UNTERMINATED BELT

3034-230 TA3034-2 UNTERMINATED BELT

3035-115 TA3035-115 UNTERMINATED PAD

3035-230 TA3035-230 UNTERMINATED PAD

3039-06-115 TA3039-06-115 UNTERMINATED LED LIGHT, 115V
3039-06-230 TA3039-06-230 UNTERMINATED LED LIGHT, 230V
3040 TA3040 WASHER- DELRIN - 0.315 ID- 0.750 OD- 0.031 THICKNESS
3042-115 TA3042-115 UNTERMINATED BELT

3042-230 TA3042-2 UNTERMINATED BELT

3044-28 TA3044-28 UNTERMINATED PAD

3050-115 TA3050-115 UNTERMINATED PAD

3050-230 TA3050-230 UNTERMINATED PAD

3056-115 TA3056-115 UNTERMINATED PAD

3056-230 TA3056-230 UNTERMINATED PAD

3070-115 TA3070-115 UNTERMINATED PAD

3070-230 TA3070-230 UNTERMINATED PAD

3086-115 TA3086-115 UNTERMINATED BELT

3086-230 TA3086-230 UNTERMINATED BELT

3096-115 TA3096-115 UNTERMINATED PAD
3100U00031435 TA3100U31435 THERMOSTAT, REDI TEMPERATURE, 3-PIN TO-5

3120003-RED

TA3120003-R

SLEEVING, VARGLAS NON-FRAY

3120005-Red

TA3120005-R

SLEEVING, VARGLAS NON-FRAY

3120006-Red

TA3120006-R

SLEEVING, VARGLAS NON-FRAY

3120008-Red

TA3120008-R

SLEEVING, VARGLAS NON-FRAY

3120009-RED

TA3120009-R

SLEEVING, VARGLAS NON-FRAY

3120050-Red

TA3120050-R

SLEEVING, VARGLAS NON-FRAY

3136-115 TA3136-115 UNTERMINATED PAD

3136-230 TA3136-230 UNTERMINATED PAD

3145 TA3145 BRACKET, 8MM, LED INDICATOR
3153 TA3153 BRACKET, DUAL PANEL FUSE
3166-115 TA3166-115 UNTERMINATED PAD

3166-230 TA3166-230 UNTERMINATED PAD
3166-42-115 TA3166-42-115 UNTERMINATED PAD

3175-115 TA3175-115 UNTERMINATED PAD

3175-230 TA3175-230 UNTERMINATED PAD

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 14 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.

Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

3176-115 TA3176-115 UNTERMINATED PAD
3176-230 TA3176-230 UNTERMINATED PAD
3178-115 TA3178-115 UNTERMINATED PAD
3178-230 TA3178-230 UNTERMINATED PAD
3179-115 TA3179-115 UNTERMINATED PAD
3179-230 TA3179-230 UNTERMINATED PAD
3179-24-115 TA3179-24-115 UNTERMINATED PAD
3179-24-230 TA3179-24-230 UNTERMINATED PAD
3179-32-115 TA3179-32-115 UNTERMINATED PAD
3179-32-230 TA3179-32-230 UNTERMINATED PAD
3180-115 TA3180-115 UNTERMINATED PAD
3180-230 TA3180-230 UNTERMINATED PAD
3181-115 TA3181-115 UNTERMINATED PAD
3181-18-115 TA3181-18-115 UNTERMINATED PAD
3181-18-230 TA3181-18-230 UNTERMINATED PAD
3181-230 TA3181-230 UNTERMINATED PAD
3190-115 TA3190-115 UNTERMINATED PAD
3190-230 TA3190-230 UNTERMINATED PAD
3190-24-115 TA3190-24-115 UNTERMINATED PAD
3190-24-230 TA3190-24-230 UNTERMINATED PAD
3197-115 TA3197-115 UNTERMINATED PAD
3198-115 TA3198-115 UNTERMINATED PAD
3201-115 TA3201-115 UNTERMINATED PAD
3201-230 TA3201-230 UNTERMINATED PAD
3202-115 TA3202-115 UNTERMINATED PAD
3202-230 TA3202-230 UNTERMINATED PAD
3203-115 TA3203-115 UNTERMINATED PAD
3203-230 TA3203-230 UNTERMINATED PAD
3204-115 TA3204-115 UNTERMINATED PAD
3204-230 TA3204-230 UNTERMINATED PAD
3205-115 TA3205-115 UNTERMINATED PAD
3205-230 TA3205-230 UNTERMINATED PAD
320559 TA320559 SPLICE, BUTT
3206-115 TA3206-115 UNTERMINATED PAD
3206-230 TA3206-230 UNTERMINATED PAD
3207-115 TA3207-115 UNTERMINATED PAD
3207-230 TA3207-230 UNTERMINATED PAD

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

HC-SL-61-375
Page 15 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.

Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

3208-24-115 TA3208-24-115 UNTERMINATED PAD
3209-115 TA3209-1 PAD - FLAP ACTUATOR..ROCKWELL COLLINS P/N: L501123
3210 TA3210 FUSE HOLDER BODIES, 03210 A& B
3215-115 TA3215-115 UNTERMINATED PAD
3215-18-115 TA3215-18-115 UNTERMINATED PAD
3215-18-230 TA3215-18-2 UNTERMINATED PAD
3215-230 TA3215-230 UNTERMINATED PAD
3218 TA3218 PAD HEAT ELEMENT - TEST COUPON
3222-115 TA3222-115 UNTERMINATED PAD
3223-18-115 TA3223-18-115 UNTERMINATED PAD
3227-115 TA3227-115 UNTERMINATED PAD
3228-115 TA3228-115 UNTERMINATED BELT
3228-230 TA3228-230 UNTERMINATED BELT
3230-115 TA3230-115 UNTERMINATED PAD
3230-230 TA3230-230 UNTERMINATED PAD
3230-42-115 TA3230-42-115 UNTERMINATED PAD
3243-115 TA3243-115 UNTERMINATED PAD
3243-230 TA3243-230 UNTERMINATED PAD
3244 TA3244 LEADS, 22759/8-20-9
3250 TA3250 THERMAL CONTROL
3258-115 TA3258-115 UNTERMINATED PAD
3258-230 TA3258-230 UNTERMINATED PAD
3259-115 TA3259-115 UNTERMINATED PAD
3259-230 TA3259-230 UNTERMINATED PAD
3260-115 TA3260-115 UNTERMINATED PAD
3260-230 TA3260-230 UNTERMINATED PAD
3266 TA3266 LIP HEATER ELEMENT
3267-115 TA3267-115 UNTERMINATED PAD
3272-115 TA3272-115 UNTERMINATED PAD
3272-230 TA3272-230 UNTERMINATED PAD
3274-115 TA3274-115 UNTERMINATED PAD
3274-230 TA3274-230 UNTERMINATED PAD
3275-115 TA3275-115 UNTERMINATED PAD
3275-230 TA3275-230 UNTERMINATED PAD
3286-115 TA3286-115 UNTERMINATED PAD
3286-230 TA3286-230 UNTERMINATED PAD
3296-115 TA3296-115 UNTERMINATED PAD

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 16 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.

Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

3296-230 TA3296-230 UNTERMINATED PAD
3303-115 TA3303-115 UNTERMINATED PAD
3303-230 TA3303-230 UNTERMINATED PAD
3304-115 TA3304-115 UNTERMINATED BELT
3304-230 TA3304-230 UNTERMINATED BELT
3311-115 TA3311-115 UNTERMINATED BELT
3311-230 TA3311-230 UNTERMINATED PAD
3313-115 TA3313-115 UNTERMINATED PAD
3313-230 TA3313-230 UNTERMINATED PAD
3319-115 TA3319-115 UNTERMINATED PAD
3319-230 TA3319-230 UNTERMINATED PAD
3324-115 TA3324-115 UNTERMINATED PAD
3324-230 TA3324-230 UNTERMINATED PAD
3325-115 TA3325-115 UNTERMINATED PAD
3325-230 TA3325-230 UNTERMINATED PAD
3326-24-115 TA3326-24-115 UNTERMINATED PAD
3326-24-230 TA3326-24-230 UNTERMINATED PAD
3327-115 TA3327-115 UNTERMINATED PAD
3327-230 TA3327-230 UNTERMINATED PAD
3328-115 TA3328-115 UNTERMINATED PAD
3328-230 TA3328-230 UNTERMINATED PAD
3329-115 TA3329-115 UNTERMINATED PAD
3329-230 TA3329-230 UNTERMINATED PAD
3330-115 TA3330-115 UNTERMINATED PAD
3330-230 TA3330-230 UNTERMINATED PAD
3336-115 TA3336-115 UNTERMINATED BELT
3336-230 TA3336-230 UNTERMINATED BELT
3337-115 TA3337-115 UNTERMINATED BELT
3337-230 TA3337-230 UNTERMINATED BELT
3338-115 TA3338-115 UNTERMINATED PAD
3338-230 TA3338-230 UNTERMINATED PAD
3339-115 TA3339-115 UNTERMINATED PAD
3339-230 TA3339-230 UNTERMINATED PAD
3343-115 TA3343-115 UNTERMINATED PAD
3343-230 TA3343-230 UNTERMINATED PAD
3346-115 TA3346-115 UNTERMINATED PAD
3346-230 TA3346-230 UNTERMINATED PAD

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

HC-SL-61-375
Page 17 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

3349-115 TA3349-115 UNTERMINATED PAD

3349-230 TA3349-230 UNTERMINATED PAD

33695 TA33695 TERMINAL, RING

34130 TA34130 SPLICE, NON-INSULATED

3-6265 HP TA3-6265HP ADHESIVE, DOW CORNING
38002-0185 TA38002-0185 JUMPER, OVER BARRIER, 3/8 INCH
39(2CM22759/187-18) TA22759/187 CABLE, 18/2C

4002787 TA4002787 ALUMINUM BOX, CU-3010-A MOD
4435.0001 TA4435.0001 CIRCUIT BREAKER, 20 AMP
4435.0037 TA4435.0037 CIRCUIT BREAKER, 15 AMP
4435.0056 TA4435.0056 CIRCUIT BREAKER, 10 AMP

4555-C TA4555-C HANDLE, TWO-POINT, NYLON

45T TA45T SILVER SOLDER, HARRIS SAFETY
461219 BK005 TA461219BK WIRE, BLACK, 12AWG

461219 WHO005 TA461219WH WIRE, WHITE, 12AWG

461419 BK005 TA461419BK WIRE, BLACK, 14AWG

461419 GR005 TA461419GR WIRE, GREEN, 14AWG

461419 WH005 TA461419WH WIRE, WHITE, 14AWG

463-441 TA463-441 SEAL,RUBBER GROMMENT,68770-018
4BTL2-1 TA4BTL2-1 THERMOSTAT, -17.8 DEGREE C
4BTL2-33 TA4BTL2-33 THERMOSTAT, 71.1 DEGREE C
5278 TA5278 PMA:PLUG, FLUSH MOUNT,15A,125V
5278C TA5278C FLUSH MOUNT PLUG - SYNTHETIC HOUSING - 15A- 125V
5278DRI TA5278DRI PLUG, FLUSH MOUNT, 250V
5278DRI.OEM TA5278DRI.O PLUG, FLUSH MOUNT, 125V
5279DRO TA5279DRO RECEPTACLE, FLUSH MOUNT, 115V
5416 TA5416 CLAMP, HOSE, COMBO HEX

5420 TA5420 CLAMP, HOSE, COMBO HEX
5541K11 TA5541K11 FOAM INSULATION SHEET

5678DRI TA5678DRI PLUG, FLUSH MOUNT, 250V

5679 TA5679 RECEPTACLE, FLUSH MOUNT, 230V
581-587 TA581-587 STEEL RETAINER PLATE
6015-22-240 TA6015-22-240 UNTERMINATED PAD

6016-22-240 TA6016-22-240 UNTERMINATED PAD

6017-22-240 TA6017-22-240 UNTERMINATED PAD

6018-22-240 TA6018-22-240 UNTERMINATED PAD

6019-22-240 TA6019-22-240 UNTERMINATED PAD

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

June 02, 2023

Table 1

HC-SL-61-375
Page 18 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

6020-22-240 TA6020-22-240 UNTERMINATED PAD

6021-30-240 TA6021-30-240 UNTERMINATED PAD

6022-18-240 TA6022-18-240 UNTERMINATED PAD

6025-22-240 TA6025-22-240 UNTERMINATED PAD

6027-06-12/20 TA6027-06-12 PAD ELEMENT INDUSTRIAL - 1 X 2.75

6029-06-115 TA6029-06-115 UNTERMINATED PAD

6039-36-48 TAB039-36-48V UNTERMINATED PAD

6043-cable TA6043-CABLE LALA SMILL RG174 WIFI ANTENNA EXTENSION CABLE, 20FT
/6M SMA MALE TO SMA FEMALE COAXIAL LOW LOSS CABLE

6044 TA6044 BRACKET, ANTENNA

6049-48-12 TAG049-48-12 UNTERMINATED PAD

6053-24-400 TA6053-24-400 UNTERMINATED PAD

6103K-0-500F TA6103K0500F QUICK DISCONNECT

62014 TA62014 PMA: CLAMP, HOSE, STAINLESS STEEL

63991-1 TA63391-1 RECEPTACLE,TAB, .093, 22-18AWG

66689 TA66689 28MM SPRAYER, WITH DIP TUBE

6823 BK005 TA6823BK005 WIRE, BLACK, 22AWG

6823 GR005 TA6823GR005 WIRE, GREEN, 22AWG

6823 RD005 TA6823RD005 WIRE, RED, 22AWG

6823 WH005 TA6823WH005 WIRE, WHITE, 22AWG

69145K52 TA69145K52 TERMINAL, SPADE

7060K19 TA7060K19 TERMINAL, QUICK DISCONNECT

7513K245 TA7513K245 LOCKNUT, 1 1/2", ZINC PLATED

7527K59 TA7527K59 JUMPER, OVER BARRIER, 3/8 INCH

7769K31 TA7769K31 TERMINAL,QUICK DISCONNECT, 90°

7769K83 TA7769K83 TERMINAL,QUICK DISCONNECT, 90°

7769K96 TA7769K96 TERMINAL,QUICK DISCONNECT, 90°

7820K14 TA7820K14 TERMINAL,QUICK DISCONNECT, 90°

80123 TA80123 SOCKET,6 POINT,DEEP WELL1/2"

80146D TA80146D SOCKET,6 POINT,DEEP WELL,11MM

8525K 111 TA8525K111 GAROLITE XX SHEET,12X12X1/16"

85985K12 TA85985K 12 LOCKING PANEL PLUG,1/4",BLACK

85985K16 TA85985K 16 LOCKING PANEL PLUG,1/2",BLACK

85F42WEC1 TA85F42WECH CIRCUIT BOARD / SQ INCH

8608K62 TA8608K62 SILICONE FOAM, 24"X24"X1/8"

8608K72 TA8608K72 SILICONE FOAM, 36"X36"X1/8"

8884T17 TA8884T17 BUMPER, 9/16" 0.D, 3/8" HIGH

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 19 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375
Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

891EM-US-W TA891EM-US-W PLUG-IN ENERGY MONITOR
90272A240 TA90272A240 SCREW,PANHEAD, 10-24, 3/8" LONG
90592A016 TA90592A016 NUT, M6 X 1 MM, HEX

90675A007 TA90675A007 WASHER, LOCK, EXTERNAL TOOTH
92929A250 TA92929A250 SCREW,NYLON,M3 X .50 MM, BLACK
93355A105 TA93355A105 NUT, COUPLING, STEEL, M8
93755K33 TA93755K33 SILICONE RUBBER, 3 FT LENGTH
94812A300 TA94812A300 NUT, NYLON, 6-32, HEX, BLACK
95133A350 TA95133A350 SCREW,NYLON,SLOTTED,6-32,BLACK
9540K902 TA9540K902 BUMPER, 3/8" 0.D, 1/4" HIGH
9541K2 TA9541K2 BUMPER,RUBBER,8-32,3/4" O.D.
95647A129 TA95647A129 WASHER, DELRIN, .328 I.D.
967652-1 TA967652-1 SEAL, CAVITY

970J TA970J FIBERFRAX, 1/8"X24"

98003 TA98003 SILICONE HEAT SINK COMPOUND (SUPER LUBE)
98409A221 TA98409A221 SNAP RING, INTERNAL

9905-1.000 TA9905-1.000 SPACER, ROUND, NYLON, 1"
9905-250 TA9905-250 SPACER, ROUND, NYLON, 1/4"
A-314 TAA-314 3/8" ANTIQUE BRASS, BOOT HOOK
ABC-12 TAABC-12 FUSE, 12 AMP, FAST ACTING

ABC-5 TAABC-5 FUSE, 5 AMP

AN310-3 TAAN310-3 NUT, 10-32, CASTELLATED
AN3-13A TAAN3-13A BOLT,10-32, HEX HEAD

AN340-6 TAAN340-6 NUT, 6-32, HEX, STEEL

AN363-1032 TAAN363-1032 NUT, 10-32, HEX, SELF-LOCKING
AN363-420 TAAN363-420 NUT, 1/4-20, HEX, SELF-LOCKING
AN363-428 TAAN363-428 NUT, 1/4-28, HEX, SELF-LOCKING
AN363-832 TAAN363-832 NUT, 8-32, HEX, SELF-LOCKING
AN365-632 TAAN365-632 NUT, 6-32, HEX, SELF-LOCKING
AN4062-1 TAAN4062-1 PLUG, DEHYDRATOR, 18MM
AN4-11A TAAN4-11A BOLT,1/4-28, HEX HEAD
AN500-416-12 TAN50041612 SCREW, 1/4-20, FILLISTER HEAD
AN525-832R12 TAN525832R12 SCREW, 8-32, WASHER HEAD
AN525-832R22 TAN525832R22 SCREW, 8-32, WASHER HEAD
AN525-832R6 TAN525-832R6 SCREW, 8-32, WASHER HEAD
AN525-832R8 TAN525-832R8 SCREW, 8-32, WASHER HEAD
AN526-632R12 TAN526632R12 SCREW, 6-32, BUTTON HEAD

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

HC-SL-61-375
Page 20 of 62

June 02, 2023



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis
Part Number

Hartzell
Part Number

Description

ANb526-632R6

TAN526-632R6

SCREW, 6-32, BUTTON HEAD

AN526-632R8

TAN526-632R8

SCREW, 6-32, BUTTON HEAD

AN526-832R10 TAN526832R10 SCREW, 8-32, BUTTON HEAD
AN900-16 TAAN900-16 GASKET, COPPER CRUSH WASHER
AN900-6 TAAN900-6 GASKET, COPPER CRUSH WASHER
AN924-6 TAAN924-6 NUT, 9/16-18, HEX, STEEL

AN960-10 TAAN960-10 WASHER

AN960-10L TAAN960-10L WASHER, THIN

AN960-416 TAAN960-416 WASHER

AN960-416L TAAN960-416L WASHER, THIN

AN960-6 TAAN960-6 WASHER

AN960-8 TAAN9G0-8 WASHER

AT04-08PB-P026

TAA08PB-P026

RECEPTACLE, 8 PIN, BUSSED

AT04-12PB-P026

TAA12PB-P026

RECEPTACLE, 12 CONTACT, BUSSED

AT04-12PB-P027

TAA12PB-P027

RECEPTACLE, 12 CONTACT, BUSSED

AT06-08

TAAT06-08SB

PLUG BODY, 8 SOCKET

AT06-12SB

TAAT06-12SB

PLUG BODY, 12 SOCKET

AT06-12SB-ECO01

TAA12SB-ECO1

PLUG BODY, 12 SOCKET

AT62-201-16141

TAA201-16141

CONTACT SOCKET, SOLID

AT62-209-16141

TAA209-16141

CONTACT SOCKET, SOLID, NICKEL

AW12S TAAW12S 12 CONTACT PLUG WEDGE-AMPHENOL

B14-PS-M TAB14-PS-M SPLICE, NON-INSULATED, 16-14

BK-1A2294 TABK-1A2294 FUSE CONTACT CLIP

BOX 10.25X4X2 TAST BOX-W-11X4.5X2.5-W/TANIS

BOX 10X4X4 TATTAS D/C KLA-WHITE - W/ TANIS AIRCRAFT LOGO..ID 10X4X4
BOX 10X8X3 TATTA4 BOX-W-10.5X9X3.5-W/TANIS

BOX 12X6X6 TABB BOX-W-12.5X6.5X6.5-W/TANIS

BOX 12X9X3 TAPH D/C KLA-WHITE - OD 13.5X9.5X3.5 - W/ TANIS AIRCRAFT LOGO
BOX 13.25X9.5X10.6875 TAPH3 RSC JNT/WI/L - OD 13.25X9.5X10.6875

BOX 13.75X13.75X9.25 TAHB RSC KLA-WHITE - OD 14X14X10

BOX 13.75X13.75X9.25 TAPH2 RSC JNT/WI/L - OD 13.25X9.5X7.125

BOX 13-10-9 TAPH3T RSC JNT/WIL - OD 13.25X10.6875X9.5

BOX 13X7X9 TAPH2T RSC JNT/WIL - OD 13.25X7.125X9.5

BOX 20.5X14.5X10.25 TAMU RCS KLA-WHITE - OD 21X15X11 - W/ TANIS AIRCRAFT LOGO
Box 9.25x6.75x10.5 TAPKL BOX, WHITE, 9.25X6.75X10.5

BP-40500 TABP-40500 BOTTLE, 16 OZ, CYLINDER HDPE

BP-40524 TABP-40524 JUG, 1/2 GAL, ROUND, HDPE

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

June 02, 2023

Table 1

HC-SL-61-375
Page 21 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

BS-31-6S TABS-31-6S TERMINAL, NON-ISULATED BLOCK

BUBBLE WRAP TABUBBLEWRAP BUBBLE WRAP

C-101479-005H TAC101479005 THERMO CONTROL, 32° F +/- 5°

C-101479-010H TA101479-010 THERMO CONTROL, 32° F +/- 10°

C1E-9468 TA3107-2 CARTRIDGE HEATER, 230V,40 WATT

C25ANB125A TAC25ANB125A RELAY

CB4000EOSCRAS TACB-E08CRAS8 STUD, ADHESIVE BONDED

CB4000E3CR14 TA4000E3CR14 STUD, ADHESIVE BONDED

CB4000E3CR14750 TAE3CR14750 STUD, ADHESIVE BONDED

CB5JB100R TACB5JB100R RESISTOR, THROUGH HOLE,100 OHM

CB911 TACB911 SOLVENT WIPE

CB9120 TACB9120 TIE MOUNT, CABLE

CB92 TACB92 ACRYLIC ADHESIVE KIT

CL-42513 TACL-42513 SPRAYER, TRIGGER

CNA TACNA HARNESS CONNECTOR (BLADE CONTACT)

CNE TACNE ELEMENT CONNECTOR, ELEMENT

CNI1633 TACNI1633 1/16 DIN CONTROLLER WITHTWO RELAY OUTPUTS

COL-09336-HPN TA09336-HPN EXTENSION CORD, 16/2 HPN,BLACK

COR-6632 TA3107-1 CARTRIDGE HEATER, 115V,40 WATT

CP-41219 TACP-41219 SCREW CAP, 28MM, WHITE

CP-41220 TACP-41220 SCREW CAP, 28MM, WHITE

CP-41410 TACP-41410 RIBBED SCREW CAP, 38MM, WHITE

CUSTOM CABLING TACUSTCABLE ADD DESCRIPTION PARTS. BULK PRICE FOR LABOR AND
MATERIALS.

CUSTOM HEATING AS- TACUSTOMHA PROTO TYPE ING PER CUSTOMER SPECIFICATIONS

SEMBLY

CVBAG TACVBAG STUFF SACK

CVR MOD TACVRMOD COVER MODIFICATION

CVR REG#BCC TACVRREGH IMPRINT REGISTRATION NUMBER

CVR619 TA03389 ENGINE COVER, INSULATED

DC4 TADC4 GREASE, SILICONE, 100G

DC-58PMBYT TADC-58PMBYT DC-58P DC SERIES HEAVY-DUTY ELECTRONICS

ENCLOSURES

DT04-08PB-P026

TADO8PB-P026

RECEPTACLE, 8 PIN, BUSSED

DTO04-12PB-P026

TAD12PB-P026

RECEPTACLE, 12 CONTACT, BUSSED

DT04-12PB-P027

TAD12PB-P027

RECEPTACLE, 12 CONTACT, BUSSED

DT04-2P-C017

TAD-2P-C017

RECEPTACLE, 2 WAY, SEALING CAP

DT04-2P-E004

TAD-2P-E004

RECEPTACLE, 2 WAY, SEALING CAP

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

June 02, 2023

Table 1

HC-SL-61-375
Page 22 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

DT04-3P-C017 TAD-3P-C017 RECEPTACLE, 3 WAY, SEALING CAP
DT04-3P-E004 TAD-3P-E004 RECEPTACLE, 3 WAY, SEALING CAP
DT04-3P-L012 TAD-3P-L012 RECEPTACLE, 3 WAY,FLANGE MOUNT
DT04-6P-EP14 TAD-6P-EP14 RECEPTACLE, 6 WAY, BUSBAR

DT06-08SB-P012

TADO8SB-P012

PLUG, 8 WAY, FOR KEY ARR.

DT06-12SB-CE13

TAD12SB-CE13

PLUG,12 WAY,W/SHRINK BOOT CAP

DT06-12SB-P012

TAD12SB-P012

PLUG, 12 WAY, FOR KEY ARR.

DT06-2S-C017 TAD-2S-C017 PLUG, 2 WAY, BLOCKED GROMMET
DT06-2S-P012 TAD-2S-P012 PLUG, 2 WAY, STANDARD SEAL
DT06-3S-C017 TAD-3S-C017 PLUG, 3 WAY, TRIANGULAR
DT06-3S-E004 TAD-3S-E004 PLUG, 3 WAY, STANDARD SEAL
DT06-3S-P012 TAD-3S-P012 PLUG, 3 WAY, STANDARD SEAL
DT06-6S-CE02 TAD-6S-CE02 PLUG,6 WAY,W/REDUCED WIRE SEAL
DT-RT1 TADTART1 CONTACT REMOVAL TOOL
E1E42-E12 TA03109-115 CARTRIDGE HEATER, 120V, 100WATT
E1JX65A TA03109-230 CARTRIDGE HEATER, 230V, 100WATT
E20199 TAE20199 WIRE 20 GAGUE, 19/32 WHITE

ER308 3/32 TAER3083/32 SS FILLER ALLOY. ER308,

ER-563 3/8 TAER-5633/8 SLEEVING, SILICONE RUBBER
EYP-1BF115 TAEYP-1BF115 THERMAL CUTOFF,110°C,250VAC,1A
FEP48-NP TAFEP48-NP FEP PARTING FILM
FPTR35211-SM-KR TAFPTR35211 ANTENNA, PTR7210 LTE

G1E94-E12H TAG1E94-E12H FIREROD, 3/8 INCH, 115VOLT
G1E95-E12H TAG1E95-E12H FIREROD,3/8 INCH,230V,200WATT
GO/NO GO GAGE .124- TAGAGE 0.124 /0.126" CLASS X GO/NOGO WITH HANDLE VERMONT
126 GAGE

GPO 135 TAGPO135 TUBING, SHRINK, 1/8 INCH,BLACK
GSM-AUTO-4G TAGSM-4G GSM CIRCUIT BOARD

GT-1340 TAGTA1340 SILICONE RUBBER, 1 GALLON KIT
H-1528 TAH-1528 WIDE SPAN STORAGE RACK - PARTICLE BOARD, 72 X 24 X 72"
HEHO50BA-001 TAHEHO50BA DELTAHEATER

HFBO0.6R-TANIS TAHFBO0.6R WIRE, BARE RESISTANCE, HTR
HFB1.5R-TANIS TAHFB1.5R WIRE, BARE RESISTANCE, HTR
HFB10000R TAHFB10000R WIRE, BARE RESISTANCE, HTR
HFB1075R-TANIS TAHFB1075R WIRE, BARE RESISTANCE, HTR
HFB108R-TANIS TAHFB108R WIRE, BARE RESISTANCE, HTR
HFB10R-TANIS TAHFB10R WIRE, BARE RESISTANCE, HTR

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 23 of 62

June 02, 2023



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

HFB1270R TAHFB1270R WIRE, BARE RESISTANCE, HTR
HFB1321R-TANIS TAHFB1321R WIRE, BARE RESISTANCE, HTR
HFB138R-TANIS TAHFB138R WIRE, BARE RESISTANCE, HTR
HFB14.2-TANIS TAHFB14.2 WIRE, BARE RESISTANCE, HTR
HFB14.5R-TANIS TAHFB14.5R WIRE, BARE RESISTANCE, HTR
HFB14.8R TAHFB14.8R WIRE, BARE RESISTANCE, HTR
HFB141R-TANIS TAHFB141R WIRE, BARE RESISTANCE, HTR
HFB15R-TANIS TAHFB15R WIRE, BARE RESISTANCE, HTR
HFB1750R TAHFB1750R WIRE, BARE RESISTANCE, HTR
HFB2.65R-TANIS TAHFB2.65R WIRE, BARE RESISTANCE, HTR
HFB2000R-TANIS TAHFB2000R WIRE, BARE RESISTANCE, HTR
HFB200R-TANIS TAHFB200R WIRE, BARE RESISTANCE, HTR
HFB20R-TANIS TAHFB20R WIRE, BARE RESISTANCE, HTR
HFB2500R TAHFB2500R WIRE, BARE RESISTANCE, HTR
HFB250R-TANIS TAHFB250R WIRE, BARE RESISTANCE, HTR
HFB2570R-TANIS TAHFB2570R WIRE, BARE RESISTANCE, HTR
HFB25R-TANIS TAHFB25R WIRE, BARE RESISTANCE, HTR
HFB26.6R-TANIS TAHFB26.6R WIRE, BARE RESISTANCE, HTR
HFB291R-TANIS TAHFB291R WIRE, BARE RESISTANCE, HTR
HFB3.16 TAHFB3.16 WIRE, BARE RESISTANCE, HTR
HFB3.5R-TANIS TAHFB3.5R WIRE, BARE RESISTANCE, HTR
HFB30R-TANIS TAHFB30R WIRE, BARE RESISTANCE, HTR
HFB3500R-TANIS TAHFB3500R WIRE, BARE RESISTANCE, HTR
HFB350R-TANIS TAHFB350R WIRE, BARE RESISTANCE, HTR
HFB37.5R-TANIS TAHFB37.5R WIRE, BARE RESISTANCE, HTR
HFB3R-TANIS TAHFB3R WIRE, BARE RESISTANCE, HTR
HFB4.04R-TANIS TAHFB4.04R WIRE, BARE RESISTANCE, BAT
HFB400R-TANIS TAHFB400R WIRE, BARE RESISTANCE, HTR
HFB42.6R-TANIS TAHFB42.6R WIRE, BARE RESISTANCE, HTR
HFB42.9R-TANIS TAHFB42.9R WIRE, BARE RESISTANCE, HTR
HFB43.4R-TANIS TAHFB43.4R WIRE, BARE RESISTANCE, HTR
HFB450R-TANIS TAHFB450R WIRE, BARE RESISTANCE, HTR
HFB45R-TANIS TAHFB45R WIRE, BARE RESISTANCE, HTR
HFB496R-TANIS TAHFB496R WIRE, BARE RESISTANCE, HTR
HFB51.5R-TANIS TAHFB51.5R WIRE, BARE RESISTANCE, HTR
HFB5250R TAHFB5250R WIRE, BARE RESISTANCE, HTR
HFB5300R-TANIS TAHFB5300R WIRE, BARE RESISTANCE, HTR

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

HC-SL-61-375
Page 24 of 62

June 02, 2023



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description
Part Number Part Number
HFB5R-TANIS TAHFB5R WIRE, BARE RESISTANCE, HTR
HFB60R-TANIS TAHFB60R WIRE, BARE RESISTANCE, HTR
HFB7.5R-TANIS TAHFB7.5R WIRE, BARE RESISTANCE, HTR
HFB70R-TANIS TAHFB70R WIRE, BARE RESISTANCE, HTR
HFB756R-TANIS TAHFB756R WIRE, BARE RESISTANCE, HTR
HFB8OR-TANIS TAHFB8OR WIRE, BARE RESISTANCE, HTR
HFB86R-TANIS TAHFB86R WIRE, BARE RESISTANCE, HTR
HFB92R-TANIS TAHFB92R WIRE, BARE RESISTANCE, HTR
HFB93.2R-TANIS TAHFB93.2R WIRE, BARE RESISTANCE, HTR
HS105 TAHS105 TUBING, PVC SHRINK, 5/16"
HS105-1/2-0 TAHS105-1/2 TUBING, PVC SHRINK, 1/2"
HTB-361-R TAHTB-36I-R FUSE HOLDER, PANEL MOUNT
HTB-42l TAHTB-42| FUSE HOLDER, PANEL MOUNT
ITCSN 0800 48 TAITCSN-48 TUBING, SHRINK, HEAVY WALL
ITCSN 0800-25 TAITCSN-25 TUBING, SHRINK, HEAVY WALL
J20-1-8-507 TAJ20-1S-507 WIRE, THERMOCOUPLE, J TYPE
J9602105 TAJ9602105 1/3 TYVEK (DESICCITE 25) IN 5 GALLON PAIL -
700 BAGS PER PAIL
K10P-11DT5-12 TAK10P11512 RELAY, GENERAL PURPOSE
K20-1-S-507 TAK20-1S507 WIRE, THERMOCOUPLE, K TYPE
KROY 144856 TAK144856 PRINTER RIBBON - KROY 144856
KT011469 TAKT011469 THERMOSTAT,NC, OPEN 0-60°
LN205 TALN205 LOCKNUT, 1 1/2", RIGID CONDUIT
M18-38RX TAM18-38RX RING TNG/ 2144 T-COUPLE
M18-6R/SK TAM18-6R/SK SMALL RING TERM/T-COUPLE EA.
M18-6R/SX TAM18-6R/SX RING, TERMINAL
M39029/29-212 TAM2929-212 CONTACT, PIN
M39029/30-217 TAM2930-217 CONTACT, SOCKET
M83519/1-3 TAM83519/1-3 SOLDER SLEEVE & SHIELD TUBING
M85049/49-2-14W TA/49-2-14W BACKSHELL, CIRCULAR STRAIN
M85049/52512W TAM4952512W BACKSHELL, CABLE SUPPORT
M85049/52S14W TAM4952814W BACKSHELL, CABLE SUPPORT
M85049/52S20W TAM4952S20W BACKSHELL, STRAIN RELIEF
M85049/95-12A-A TA/95-12A-A PERIMETER MOUNTING FLANGE
M85049/95-14A-A TA/95-14A-A PERIMETER MOUNTING FLANGE
MC24315 TAMC24315 TERMINAL BLOCK, BARRIER

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 25 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description
Part Number Part Number
MFG-TCP2598 TAMP2598 MANUFACTURING - PIN CONNECTOR KIT - 2 CONTACT
(RECEPTACLE BODY-DT04-2P)
MIL-C-6529C TA-M-C6529C1 CORROSION PREVENTIVE,ENG,55GAL
MNG18-250 DFIK TAMNG18DFIK CONNECTOR, SPADE, FEMALE, RED
MNG18-250 DMIK TAMNG18DMIK CONNECTOR, SPADE, MALE, RED
MQT8KO005XBARB TAMQT8K005X THERMOSTAT, +/- 5° C
MS20426AD3-10 TAMS20426310 RIVET, COUNTERSUNK, .094 DIA
MS20470AD3-10 TAMS20470310 RIVET,UNIVERSAL HEAD, .094 DIA
MS20470AD4-10 TA9301B-4-02 RIVET,UNIVERSAL HEAD, .125 DIA
MS20470AD4-10 TAMS20470410 RIVET, UNIVERSAL HEAD, .125 DIA
MS20659-129 TAMS20659129 TERMINAL, RING
MS21042-08 TAMS21042-08 NUT, 8-32, HEX, SELF-LOCKING
MS21042L06 TAMS21042L06 NUT, 6-32, HEX, SELF-LOCKING
MS21043-08 TAMS21043-08 NUT, 8-32, HEX, SELF-LOCKING
MS21044N3 TAMS21044N3 NUT, 10-32, HEX, SELF-LOCKING
MS21045-3 TAMS21045-3 NUT, 10-32, HEX, SELF-LOCKING
MS21060L08 TAMS21060L08 NUTPLATE, 8-32,FLOATING
MS21060L3 TAMS21060L3 NUTPLATE, 10-32,FLOATING
MS21919WDG-10 TAMSWDG-10 CLAMP, LOOP, CUSHIONED
MS21919WDG-12 TAMSWDG-12 CLAMP, LOOP, CUSHIONED
MS21919WDG-14 TAMSWDG-14 CLAMP, LOOP, CUSHIONED
MS21919WDG-16 TAMSWDG-16 CLAMP, LOOP, CUSHIONED
MS21919WDG-16-T TAMSWDG-16T CLAMP, LOOP, CUSHIONED
MS21919WDG-19 TAMSWDG-19 CLAMP, LOOP, CUSHIONED
MS21919WDG-19-T TAMSWDG-19T CLAMP, LOOP, CUSHIONED
MS21919WDG-2 TAMSWDG-2 CLAMP, LOOP, CUSHIONED
MS21919WDG-20 TAMSWDG-20 CLAMP, LOOP, CUSHIONED
MS21919WDG-24 TAMSWDG-24 CLAMP, LOOP, CUSHIONED
MS21919WDG-4 TAMSWDG-4 CLAMP, LOOP, CUSHIONED
MS21919WDG-4-T TAMSWDG-4-T 1/4 INCH CUSHIONED CLAMP
MS21919WDG-5 TAMSWDG-5 CLAMP, LOOP, CUSHIONED
MS21919WDG-6 TAMSWDG-6 CLAMP, LOOP, CUSHIONED
MS21919WDG-8 TAMSWDG-8 CLAMP, LOOP, CUSHIONED
MS24693-S29 TAMS24693S29 SCREW, 6-32, 100° HEAD
MS24694-S5 TAMS24694-S5 SCREW, 8-32, 100° HEAD
MS25036-103 TAMS25036103 TERMINAL, RING
MS25036-104 TAMS25036104 TERMINAL, RING

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 26 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

MS25036-150 TA25036-150 TERMINAL, RING
MS26574-10 TAMS26574-10 CIRCUIT BREAKER, 10 AMP

MS27039-0806

TAMS270-0806

SCREW, 8-32, PAN HEAD

MS27039-0807

TAMS270-0807

SCREW, 8-32, PAN HEAD

MS27039-0816

TAMS270-0816

SCREW, 8-32, PAN HEAD

MS27039-1-09

TAMS270-1-09

SCREW, 8-32, PAN HEAD

MS27215-1 TAMS27215-1 PLUG, DEHYDRATOR, 18MM
MS27215-2 TAMS27215-2 PLUG, DEHYDRATOR, 18MM
MS27467T15B5P TAMS27465B5P CONNECTOR, CIRCULAR, 5 CONTACT
MS3106R10SL-3S TAMS-3S CONNECTOR, CIRCULAR, 3 CONTACT
MS3120F14-5SX TAMS31F145SX CONNECTOR, CIRCULAR, 5 CONTACT
MS3126F14-5PX TAMS31F145PX CONNECTOR, CIRCULAR, 5 CONTACT

MS3320-10

TAMS3320-10

CIRCUIT BREAKER, 10 AMP

MS3450KT14S-6S

TAMSKT14S-6S

CONNECTOR, CIRCULAR, 6 CONTACT

MS3450KT20-27S

TAMSKT20-27S

CONNECTOR,CIRCULAR, 14 CONTACT

MS3450W12S-3P

TAMS34W12S3P

CONNECTOR, CIRCULAR, 2 CONTACT

MS3456KT14S-6P

TAMSKT14S-6P

PLUG, CIRCULAR, 6 CONTACT

MS3456KT20-27P

TAMSKT20-27P

CONNECTOR,CIRCULAR, 14 CONTACT

MS3456W12S-3S

TAMS34W12S3S

CONNECTOR, CIRCULAR, 2 CONTACT

MS35059-22

TAMS35059-22

SWITCH, TOGGLE

MS35206-214

TA35206-214

SCREW,PANHEAD,4-40, 5/16" LONG

MS35206-228

TA35206-228

SCREW,PANHEAD,6-32, 3/8" LONG

MS35206-231

TA35206-231

SCREW,PANHEAD,6-32, 5/8" LONG

MS35206-243

TA35206-243

SCREW,PANHEAD,8-32, 3/8" LONG

MS35206-248

TA35206-248

SCREW,PANHEAD,8-32, 7/8" LONG

MS35206-333

TA35206-333

SCREW,PANHEAD,8-32,1 3/8" LONG

MS35207-264

TA35207-264

SCREW,PANHEAD,10-32, 5/8" LONG

MS35207-266

TA35207-266

SCREW,PANHEAD,10-32, 7/8" LONG

MS35333-38 TAMS35333-38 WASHER,LOCK,INTERNAL TOOTH
MS35333-40 TAMS35333-40 WASHER,LOCK,INTERNAL TOOTH
MS35333-71 TAMS35333-71 WASHER,LOCK,INTERNAL TOOTH
MS35489-35 TAMS35489-35 GROMMET, SYNTHETIC RUBBER
MS35489-7 TAMS35489-7 GROMMET, SYNTHETIC RUBBER
MS35489-9 TAMS35489-9 GROMMET, SYNTHETIC RUBBER
MS35649-262 TA35649-262 NUT, 6-32, HEX, STEEL

MS35769-13 TAMS35769-13 GASKET, COPPER CRUSH WASHER
MS35769-39 TAMS35769-39 GASKET, COPPER CRUSH WASHER

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 27 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

MU18-187DFK TA18-187DFK TERMINAL, SPADE, FEMALE

MU18-187DFX TA18-187DFX TERMINAL, DISCONNECT, FEMALE

NAS1149D0463H TA1149D0463H WASHER, 1/4", ALUMINUM

NAS1149D0463J TA1149D0463J WASHER, 1/4", ALUMINUM

NAS1149DN816J TA1149DN816J WASHER, #8, ALUMINUM

NAS1149DN832J TA1149DN832J WASHER, #8, ALUMINUM

NAS1149DN832K TA1149DN832K WASHER, #8, ALUMINUM

NAS1149F0316P TA1149F0316P WASHER, #10, STEEL

NAS1149F0332P TA1149F0332P WASHER, #10, STEEL

NAS1149F0963P TA1149F0963P WASHER, 9/16", STEEL

NAS1149FN416P TA1149FN416P WASHER, #4, STEEL

NAS1149FN632P TA1149FN632P WASHER, #6, STEEL

NAS1149FN816P TA1149FN816P WASHER, #8, STEEL

NAS1329A08K75 TA1329A08K75 RIVNUT, 8-32, BLIND

NAS1352C06H8 TANAS13C06H8 SCREW, 6-32, SOCKET HEAD

NAS1352C08H8 TANAS13C08H8 SCREW, 8-32, SOCKET HEAD

NAS1801-04-6 TANAS 1801046 SCREW, 4-40, HEX HEAD

NAS1921M04S04 TA1921M04S04 RIVET, BLIND, FLUSH HEAD

NAS1921M04S05 TA1921M04S05 RIVET, BLIND, FLUSH HEAD

NAS1921M04S06 TA1921M04S06 RIVET, BLIND, FLUSH HEAD

NAS620-6 TANAS620-6 WASHER, #6, STEEL

NAS620A4L TANAS620A4L WASHER, ALUMINUM, FLAT

NASM15795-811 TAM15795-811 WASHER, STAINLESS STEEL, FLAT

NFM-15-12 TANFM-15-12 POWER SUPPLY, OPEN FRAME

NT120 1/4 TANT1201/4 SHRINK FOR MFG/FT.

P6040 TAP6040 U-PHONE-IT, CELLULAR REMOTE SWITCH

P6041 TAP6041 REGAL PRO, CELLULAR REMOTE SWITCH

P6042 TAP6042 REGAL PRO-MAX, CELLULAR REMOTE SWITCH

P6043 TAP6043 REMOTE ANTENNA AND EXTENSION

P6045 TAP6045 SIMCARD & ACTIVATION CHARGE

P6048 TAP6048 DC-58P ENCLOSER

P6050 TAP6050 ADAPTER FROM NEMA 5-15 TO 5-20

P6060 TAP6060 SWITCHEON 2 CHANNEL 15 AMP, BASE UNIT

P6061 TAP6061 SWITCHEON 4 CHANNEL 15 AMP, 4 CHANNEL UPGRADE UNIT

P6062 TAP6062 SWITCHEON 4 CHANNEL 20 AMP, POWER UPGRADE UNIT

PE01J1005 TAPEO01J1005 50W- 230V ELEMENT FOR TAS75, 76,76M, 100, 101, 103, 106 &
109

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

HC-SL-61-375
Page 28 of 62

June 02, 2023



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

P-MISC TAP-MISC MISC PARTS - DESCRIBE

POWERBANK TAPOWERBANK POWER BANK / FLASHLIGHT
PR01000101000JR500 TAPR100 RESISTOR- THROUGH HOLE- 100 OHM- 350V
PS5266X TAPS5266X PLUG,STRAIGHT BLADE,15AMP, 125V
PS5269X TAPS5269X RECEPTACLE, EXTRA-HARD USE - 115
PS5279SS TAPS5279SS FLUSH MOUNT PLUG, 15 AMP 250

PS5666X TAPS5666X POWER PLUG, 230V

PS5669X TAPS5669X ADAPTER, RECEPTACLE, 230V

PS5678SS TAPS5678SS PLUG, FLUSH MOUNT, 15 AMP,250V
Q8F3CXXHR220E TA8F3CHR220E INDICATOR LIGHT, 8MM FLUSH CROME LED RED 220
R463N347040NOM TAR463N3NOM SAFETY CAPACITOR- 630V- 0.47 UF

ROTAX 945-751 TA945-751 LOCKWASHER, METRIC, TYPE A6

RS-15-12 TARS-15-12 POWER SUPPLY, ENCLOSED

RVC9045T TARVC9045T PMA: BACK CAP, PROTECTIVE

S-12247 TAS-12247 ZIPPER BAG, 2.5X3 2 MIL

S-1293 TAS-1293 ZIPPER BAG, 3X5 2 MIL

S-1297 TAS-1297 ZIPPER BAG, 6X10 2 MIL

S-1694 TAS-1694 ZIPPER BAG, 4X8 2 MIL

S2111 TAS2111 CONNECTOR, CORD, LIQUIDTIGHT, PG11
S27 TAS27 SCOTCH 27, FIBERGLASS TAPE

SJ3550 TASJ3550 DUAL LOCK RECLOSABLE FASTENERS - BLACK 1 INCH X 1 YD
SKU 98502 TA98502 MAGNET HOOK SKU 98502
SUM-B2(3X)-1.5/0.5-0 TAB2(3X) TUBING, SHRINK, BLACK, .06"

SUM-B2-1/8-0 TAB2-1/8-0 TUBING, SHRINK, BLACK, 1/8"
SUM-KH230(TW)-1/4-0 TAKH230 TUBING, SHRINK, 1/4"

SUM-KH230(TW)-1/8

TAKH230-1/8

SHRINK, HI-TEMP 1/8 INCH - PRICE/FT

SUM-W3B2(4X)-5/8-0

TAW3B24X-58

TUBING, SHRINK, THIN WALL,5/8"

SX04077 TAL03138 LIGHT, LED, 8MM, 230 VOLT

TAS100-29-DT-115 TA29-1 4 CYLINDER PREHEAT KIT, 115V

TAS100-29-DT-230 TA29-2 DA40(10-240)-230 V

TAS2144-J TAS2144-J WASHER T- COUPLE J TYPE GROUNDED - RED/WHT OR
BLK/YEL

TAS2144-JUG TAS2144-JUG WASHER T- COUPLE J TYPE UNGROUNDED - RED/WHT OR
BLK/YEL

TAS2144-K TAS2144-K WASHER T- COUPLE K TYPE GROUNDED - RED/YEL

TAS2144-KUG TAS2144-KUG WASHER T- COUPLE K TYPE UNGROUNDED - RED/YEL

TAS300-11A-DT-115 TAT1TA-1 HELI-SYS-AS355N/NP -115

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

June 02, 2023

Table 1

HC-SL-61-375
Page 29 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TAS300-11A-DT-230 TA11TA-2 HELI-SYS-AS355N/NP -230

TAS300-11-DT-115 TATA11-1 HELI- SYS - AS355 TWIN STAR WITH ALLISON/RR - 115
TAS300-11-DT-230 TATA11-2 HELI- SYS - AS355 TWIN STAR WITH ALLISON/RR - 230
TAS300-39-DT-115 TA39-1 HELI- SYS - BELL 205 WITH LYCT53-13B - 115
TAS300-39-DT-230 TA39-2 HELI- SYS - BELL 205 WITH LYCT53-13B - 230
TAS75-01-771-DT-115 TA75-01-7-1 CONTINENTAL 4 CYL SYS-115

TAS7501-771-DT-230 TA75-01-7-2 CONTINENTAL 4 CYL SYS-230

TAS75-02-771-DT-115 TA75-02-7-1 TAS75-02-771-DT-115,LEGACY

TAS75-02-771-DT-230 TA75-02-7-2 TAS75-02-771-DT-230,LEGACY

TB02643-22-115/42

TA02643-22-1

BAT ELEMENT -22.5X 4

TB02643-22-230/42

TA02643-22-2

BAT ELEMENT -22.5 X 4 - 230

TB02644-28-115/52

TA02644-28-1

BAT ELEMENT -28.5 X4

TB02644-28-230/52

TA02644-28-2

BAT ELEMENT -28.5 X 4 - 230

TB02645-07

TA02645-07

ADAPTOR, BELT

TB02646-31-115/60

TA02646-31-1

HEATING ELEMENT, BATTERY,W/CON

TB02646-31-230/60

TA02646-31-2

BAT ELEMENT -31.5X4 - 230

TB02647-31-115/60

TA02647-31-1

BAT ELEMENT -31.5 X 3.5

TB02647-31-230/60

TA02647-31-2

BAT ELEMENT -31.5X3.5-230

TB02648-38-115/74

TA02648-38-1

HEATING ELEMENT, BATTERY

TB02648-38-230/74

TA02648-38-2

BAT ELEMENT - 38.5 X 4 - 230

TB02843-115 TA02843-1 BAT-SYS PC12 W/2RG-380E/44H-1

TB02843-230 TA02843-2 BAT SYS - PILATUS PC12 W/2-VRSLA 24V - 230
TB02962-115 TA02962-1 TB02962-115, BAT

TB02962-230 TA02962-2 TB02962-230, BAT

TB03268-09 TA03268-09 ADAPTOR, BELT

TBN6034 TABN6034 BAT PAD ELEMENT INDUSTRIAL - 42 X 4

TBP2643-22-115/42 TA2643-22-1 HEATING ELEMENT, BATTERY

TBP2643-22-230/42 TA2643-22-2 BAT ELEMENT - 22.5 X 4 (TAS200) W/PIN CONNECTOR - 230
TBP2644-28-115/52 TA2644-28-1 BAT ELEMENT - 28.5 X 4 (TAS201) W/PIN CONNECTOR
TBP2644-28-230/52 TA2644-28-2 BAT ELEMENT - 28.5 X 4 (TAS201) W/PIN CONNECTOR - 230
TBP2646-31-115/60 TA2646-31-1 HEATING ELEMENT, BATTERY, 115V

TBP2646-31-230/60 TA2646-31-2 HEATING ELEMENT, BATTERY, 230V

TBP2647-31-115/60 TA2647-31-1 HEATING ELEMENT, BATTERY, 115V

TBP2647-31-230/60 TA2647-31-2 HEATING ELEMENT, BATTERY, 230V

TBP2648-38-115/74 TA2648-38-1 HEATING ELEMENT, BATTERY

TBP2648-38-230/74 TA2648-38-2 HEATING ELEMENT, BATTERY

TBP2966-28-115/60 TA2966-28-1 BAT ELEMENT - 28 X 3.25 W/PIN CONNECTOR

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

HC-SL-61-375
Page 30 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375
Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TBP2966-28-230/60 TA2966-28-2 BATTERY HEAT ELEMENT - 28 X 3.25
TBP3034-18-115/20 TA3034-18-1 BAT ELEMENT - 18 X 2.37 W/PIN CONNECTOR
TBP3042-15-115/10 TA3042-15-1 BAT ELEMENT - 15 X 2.37

TBP3042-15-230/10 TA3042-15-2 BAT ELEMENT - 15 X 2.37 - 230

TBP3086-31-115/75 TA3086-31-1 HEATING ELEMENT, BELT, 115V

TBP3086-31-230/75 TA3086-31-2 HEAT ELEMENT, BELT, 230V W/PIN
TBP3228-38-115/100 TA3228-1 HEATING ELEMENT, BATTERY

TBP3228-38-230/100 TA3228-2 BAT ELEMENT - 38.5 X 5 W/PIN CONNECTOR - 230
TBP3304-11-115/30 TA3304-11-1 BAT ELEMENT - 11.5 X 3.5 W/PIN CONNECTOR
TBP3304-11-230/30 TA3304-11-2 BAT ELEMENT - 11.5 X 3.5 W/PIN CONNECTOR - 230
TBP3311-36-115/90 TA3311-36-1 BAT ELEMENT - 36.5 X 5 W/PIN CONNECTOR - 115
TBP3311-36-230/90 TA3311-36-2 HEATING ELEMENT, BATTERY, 230V
TBP3336-18-115/30 TA3336-18-1 BAT ELEMENT - 18 X 3 W/PIN CONNECTOR
TBP3336-18-230/30 TA3336-18-2 BATTERY HEAT ELEMENT - 18 X 3 W/PIN CONNECTOR
TBP3337-18-115/40 TA3337-18-1 BAT ELEMENT - 18 X 3 W/PIN CONNECTOR
TBP3337-18-230/40 TA3337-18-2 BATTERY HEAT ELEMENT - 18 X 3 W/PIN CONNECTOR
TBP3388-20-115 TA3388-20-1 HEATING ELEMENT, BATTERY, 115V

TBP3388-20-230 TA3388-20-2 HEATING ELEMENT, BATTERY, 230V

TC01080 TAC01080 CABLE - (PT6A VARIOUS HRN18)

TC02193 TAC02193 CABLE KIT, 4 CYLINDER ENGINE

TC02420 TAC02420 CABLE - HELICOPTER, T-53 SERIES

TC02578 TACO02578 CABLE -4 CYL, ROTAX

TC02594 TAC02594 ADD CABLE INFORMATION FOR EACH ORDER
TC02594-182N018S TA182N018S CABLE - 18 INCH 18 GA. 2 WIRE CABLE W/ ONE SOCKET

CONNECTOR

TC02594-182N024S/024N

TAC02594-182N024S/024N

CABLE ASSEMBLY - SPLITTER CABLE 18 GA. 24 INCH LEADS
1 SOCKET CONNECTORS

TC02594-182N030S TA182N030S CABLE -30 INCH 18 GA. 2 WIRE CABLE W/SOCKET
CONNECTOR

TC02594-182N036K TA182N036K CABLE - TAIL BOOM PIG-TAIL

TC02594-182N042S TA182N042S CABLE -42 INCH 18 GA. 2 WIRE CABLE W/SOCKET
CONNECTOR

TC02594-182N072P TA182N072P CABLE - 72 INCH 18 GA. 2 WIRE CABLE W/PIN CONNECTOR

TC02594-182N072S TA182N072S CABLE -72INCH 18 GA. 2 WIRE CABLE W/SOCKET
CONNECTOR

TC02594-182N096P TA182N096P CABLE - 96 INCH 18 GA. 2 WIRE CABLE W/PIN CONNECTOR

TC02594-182N180P TA182N180P CABLE -15FOQT 18 GA. 2 WIRE - ONE W/PIN CONNECTOR

TC02594-182N240P TA182N240P CABLE - 20 FOOT 18 GA. 2 WIRE CABLE - PIN CONNECTOR

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

June 02, 2023

Table 1

HC-SL-61-375
Page 31 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375
Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description
Part Number Part Number P
TC02594-182P036S TA182P036S CABLE - 36 INCHES 18 GA. 2 WIRE - W/PIN AND SOCKET

CONNECTOR

TC02594-182S006P/006S

TAC-S06P/06S

CABLE-SPLITTER 6IN 1PIN/2S

TC02594-182S006P/036S

TAC-S06P/36S

CABLE - SPLITTER 6IN 1PIN/2S

TC02594-1825006S/012S

TAC-S06S/12S

CABLE - SPLITTER CABLE

TC02594-182S012P TA182S012P CABLE-12 IN W/SOCKET&PIN

TC02594-182S012P/018S TAC-S12P/18S CABLE-SPLITTER 12,18 1PIN/2S

TC02594-182S018P TA182S018P CABLE-18 IN W/SOCKET&PIN

TC02594-182S018P/018S TAC-S18P/18S CABLE-SPLITTER 18IN 1PIN/2S

TC02594-182S030P TA182S030P CABLE-30 IN W/SOCKET&PIN

TC02594-1825180S TA1825180S CABLE -15FOOT 18 GA. 2 WIRE CABLE - SOCKET
CONNECTORS

TC02594-1825240S TA1825240S CABLE,TAIL ROTOR, W/FLIGHT TAG

TC02594-1825264S

TAC02594-1825264S

CABLE ASSEMBLY - 22 FOOT 18 GA. 2 WIRE CABLE SOCKET
CONNECTOR ON EACH END

TC02594-202N030S TA202N030S CABLE - 30 INCH 20 GA. 2 WIRE CABLE W/SOCKET
CONNECTOR

TC02753 TACO02753 DT HARNESS FOR PT6A-67B

TC02769 TACO02769 CABLE - HELICOPTER, LTS-101 SERIES

TC02804 TAC02804 ADD CABLE INFORMATION FOR EACH ORDER

TC02804-183N060OP TA183NOGOP CABLE - 18 GA. 3 WIRE 5 FOOT CABLE W/TCP2603

TC02806 TAC02806 CABLE - HELICOPTER, LTS-101 SERIES

TC02813 TAC02813 CABLE KIT, 8 CYLINDER ENGINE

TC02815 TAC02815 CABLE KIT - TRENT ENGINE

TC02831 TAC02831 CABLE KIT, TURBINE ENGINE

TC02859 TAC02859 CABLE KIT, 4 CYLINDER ENGINE

TC02870 TAC02870 CABLE - HELICOPTER, PW PT6T-3D

TC02871 TAC02871 CABLE KIT, OIL TANK

TC02875 TAC02875 CABLE - HELICOPTER, ARRIEL 2C2

TC02881 TAC02881 CABLE -6 CYL

TC02883 TAC02883 CABLE (6 CYL)

TC02888 TAC02888 CABLE - HELICOPTER, PW 206C

TC02890 TAC02890 CABLE -7CYL

TC02894 TAC02894 CABLE - HELICOPTER, ARRIEL 1E, 1E2

TC02900 TAC02900 CABLE - TWIN ROTAX

TC02903 TAC02903 CABLE KIT, WASP ENGINE

TC03004 TACO03004 CABLE KIT, 4 CYLINDER ENGINE

TC03014 TAC03014 CABLE KIT, 6 CYLINDER ENGINE

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

June 02, 2023

Table 1

HC-SL-61-375
Page 32 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TC03021 TAC03021 CABLE - (PT6A)

TC03031 TAC03031 CABLE -4 CYL (CUB-CRAFTERS)
TC03053 TAC03053 CABLE KIT, 6 CYLINDER ENGINE
TC03055 TAC03055 CABLE KIT, 6 CYLINDER ENGINE
TC03066 TAC03066 CABLE - SINGLE POINT PLUG

TCO03067 TACO03067 CABLE - , RR 250

TC03071 TAC03071 CABLE - INTERIOR OUTLET

TC03075 TAC03075 CABLE - CASA 212 AIRFRAME AVIONICS/HYD
TC03092 TAC03092 CABLE - SR305

TC03117 TAC03117 CABLE KIT - 4 CYLINDER ENGINE (SR18)
TC03159 TAC03159 CABLE -AV ERAC OUTLET

TC03161 TAC03161 CABLE KIT, 4 CYLINDER ENGINE
TC03164 TAC03164 CABLE KIT, AV/CABIN HEATER
TC03164-15 TAC03164-15 CABLE KIT, AV/CABIN HEATER
TC03164-25 TAC03164-25 CABLE - AV/CABIN ER, 25-FOOT CABLE W/ FUSED LINK.
TC03173 TAC03173 CABLE KIT - CD JET-A DIESEL ENGINE
TC03212 TAC03212 CABLE - DUALAV ERS

TC03220 TAC03220 CABLE -4 CYL TAE 125

TC03240 TAC03240 CABLE KIT, FIREWALL, AFT

TC03242 TAC03242 CABLE KIT, FIREWALL, FORWARD
TC03246-A TAC03246-A CONTROL CABLE, THERMOSTAT
TC03248 TAC03248 CABLE -AVER

TC03255 TAC03255 CABLE KIT - DELTAHAWK

TC03279 TAC03279 CABLE - ROTAX

TC03293 TAC03293 CABLE KIT - W670

TC03297 TAC03297 CABLE KIT - RANGER

TC03317 TACO03317 CABLE KIT - UL350

TC03321 TAC03321 CABLE MOD - SINGLE PLUG

TC03342 TAC03342 CABLE KIT, 4 CYLINDER ENGINE
TC06038 TAC06038 CABLE - FOR UP TO FIVE ELEMENTS
TC6031-40-45 TACB031 THERMOSTAT 48VDC, 20A ON@40F, OFF@45F
TCB2963 TACB2963 CABLE 3-BATTERIES

TCB3114 TACB3114 CABLE KIT, BATTERY

TCB3116 TACB3116 CABLE KIT, BATTERY

TCB3116-1 TACB3116-1 CABLE KIT, BATTERY

TCB3116-2 TACB3116-2 CABLE KIT, BATTERY

TCB3116-3 TACB3116-3 CABLE KIT, BATTERY

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 33 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375
Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TCF2973 TACF2973 CABLE KIT, TURBINE ENG.

TCF3005 TACF3005 CABLE -4 CYL, SMA SR305-230E

TCF3121 TACF3121 CABLE KIT - AIRCRAFT AIRVANS

TCF3122 TACF3122 CABLE KIT, ENGINE

TCF3276 TACF3276 CABLE KIT - BOEING 737

TCH1078 TACH1078 CABLE - HELICOPTER, BO105

TCH2043 TACH2043 CABLE KIT - HELICOPTER - AS355

TCH2092 TACH2092 CABLE KIT - HELICOPTER - SCOTTS BELL 47
TCH2362 TACH2362 CABLE KIT, HELICOPTER

TCH2413 TACH2413 CABLE - HELICOPTER, RR 250 (BELL 407)

TCH2503 TACH2503 CABLE - HELICOPTER, RR 250C20W (ENSTROM 480)
TCH2507 TACH2507 CABLE - HELICOPTER, LYC4 CYL (SIKORSKY 269/300)
TCH2583 TACH2583 CABLE KIT, HELICOPTER

TCH2583 TACH2583* CABLE KIT, HELICOPTER

TCH2599 TACH2599 CABLE - HELICOPTER, GE CT7 SERIES (BELL 214ST)
TCH2613 TACH2613 CABLE - HELICOPTER, ARRIEL 2B, 2B1, 2D, 1D, 1D1, 1B
TCH2764 TACH2764 CABLE KIT, HELICOPTER

TCH2777 TACH2777 CABLE KIT, HELICOPTER

TCH2781 TACH2781 CABLE - HELICOPTER, LYCHIO-360 (ENSTROM 280)
TCH2789 TACH2789 CABLE KIT, HELICOPTER

TCH2796 TACH2796 CABLE KIT - HELICOPTER (R22)

TCH2803 TACH2803 CABLE KIT, HELICOPTER

TCH2861 TACH2861 CABLE KIT, HELICOPTER

TCH3077 TACH3077 CABLE KIT, HELICOPTER

TCH3082 TACH3082 CABLE KIT, HELICOPTER

TCH3088 TACH3088 CABLE KIT, HELICOPTER

TCH3133 TACH3133 CABLE KIT - HELICOPTER BELL 412

TCH3135 TACH3135 CABLE KIT, HELICOPTER

TCH3182 TACH3182 CABLE KIT, HELICOPTER

TCH3182 TACH3182* CABLE KIT, HELICOPTER

TCH3194 TACH3194 CABLE KIT - ERICKSON AIR-CRANE

TCH3196 TACH3196 CABLE - HELICOPTER, MD902

TCH3226 TACH3226 CABLE KIT, HELICOPTER

TCH3307 TACH3307 CABLE KIT, HELICOPTER

TCH3390 TACH3390 CABLE KIT, HELICOPTER

TCJ3008 TACJ3008 JUNCTION KIT, 4 LEAD

TCJ3008 TACJ3008* JUNCTION KIT, 4 LEAD

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

June 02, 2023 HC-SL-61-375
Page 34 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TCJ3012 TACJ3012 JUNCTION KIT, 6 LEAD

TCJ3012 TACJ3012* JUNCTION KIT, 6 LEAD

TCJ3106 TACJ3106 JUNCTION KIT, 3 LEAD

TCJ3106 TACJ3106* JUNCTION KIT, 3 LEAD

TCP2598 TACP2598 CONNECTOR, PIN, 2 CONTACT
TCP2598 TACP2598* CONNECTOR, PIN, 2 CONTACT
TCP2603 TACP2603 CONNECTOR, PIN, 3 CONTACT
TCP2603 TACP2603* CONNECTOR, PIN, 3 CONTACT
TCS2598 TACS2598 CONNECTOR, SOCKET, 2 CONTACT
TCS2598 TACS2598* CONNECTOR, SOCKET, 2 CONTACT
TCS2603 TACS2603 CONNECTOR, SOCKET, 3 CONTACT
TCS2603 TACS2603* CONNECTOR, SOCKET, 3 CONTACT
TCT2130 TACT2130 CABLE - , PW JT15D SERIES
TCT2542 TACT2542 CABLE - , PW 545A

TCT2790-P TACT2790-P CABLE (PIN)

TCT2790-S TACT2790-S CABLE (SOCKET)

TCT2812 TACT2812 CABLE KIT, TURBINE ENGINE
TCT2893 TACT2893 CABLE KIT, TURBINE ENGINE
TCT2956 TACT2956 CABLE KIT, TURBINE ENG., 115V
TCT3021 TACT3021 CABLE KIT, TURBINE ENGINE
TCT3026 TACT3026 CABLE KIT, TURBINE ENGINE
TCT3072 TACT3072 CABLE KIT, TURBINE ENGINE
TCT3079 TACT3079 CABLE KIT, TURBINE ENGINE
TCT3085 TACT3085 CABLE KIT, TURBINE ENGINE
TCT3091 TACT3091 CABLE KIT - APU GARRETT 85-129
TCT3104 TACT3104 CABLE KIT, TURBINE ENGINE
TCT3199 TACT3199 CABLE KIT - TURBINE ENGINE TFE731
TCT3232 TACT3232 CABLE KIT, TURBINE ENGINE
TCT3263 TACT3263 CABLE KIT, TURBINE ENGINE
TD02750-1 TAD02750-1 DOUBLE, 2 PLACE, .040

TD02750-2 TAD02750-2 DOUBLE, 2 PLACE, .040

TD02750-3 TAD02750-3 DOUBLE, 2 PLACE, .080

TD02751-1 TAD02751-1 DOOR, 2 PLACE

TD02751-2 TAD02751-2 DOOR, HINGE, 2 PLACE

TD02826 TAD02826 POWER DOOR ASSEMBLY

TD02827 TAD02827 POWER DOOR - EXTRUDED
TD02838 TAD02838 DOUBLER, DOOR

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 35 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375
Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description
Part Number Part Number
TD02840 TAD02840 DOORKIT
TD02935 TAD02935 SHORE POWER KIT
TD02944 TAD02944 SHORE POWER DOOR KIT
TDO03095 TADO03095 DOORKIT - 2 PLACE
TD03097 TAD03097 DOORKIT - 2 PLACE
TD03152 TAD03152 DOORKIT - 2 PLACE
TE02649-115/120 TA02649-1 HEAT ELEMENT, PAD, 115V, W/SOC
TE02649-230/120 TA02649-2 PAD HEAT ELEMENT (TAS300) - 230 VOLT
TE02650-115/120 TA02650-1 HEAT ELEMENT, PAD, 115V, W/CON
TE02650-230/120 TA02650-2 HEAT ELEMENT, PAD, 230V, W/CON
TE02651-115/100 TA02651-1 PAD HEAT ELEMENT (TAS300B)
TE02651-230/100 TA02651-2 PAD HEAT ELEMENT (TAS300B)
TE02652-115/50 TA02652-1 PAD HEAT ELEMENT (TAS301)
TE02652-230/50 TA02652-2 PAD HEAT ELEMENT (TAS301) - 230V
TE02653-115/40 TA02653-1 HEAT ELEMENT, PAD, 115V, W/SOC
TE02653-230/40 TA02653-2 PAD HEAT ELEMENT (TAS302) - 230V
TE02654-115/38.5 TA02654-1 PAD HEAT ELEMENT (TAS302A)
TE02655-115/90 TA02655-1 HEAT ELEMENT, PAD, 115V, W/SOC
TE02655-230/90 TA02655-2 PAD HEAT ELEMENT (TAS303) - 230 VOLT
TE02656-115/80 TA02656-1 HEAT ELEMENT, PAD, 115V, W/CON
TE02656-230/80 TA02656-2 HEAT ELEMENT, PAD, 230V, W/CON
TE02657-115/70 TA02657-1 PAD HEAT ELEMENT (TAS303S)
TE02657-230/70 TA02657-2 PAD HEAT ELEMENT (TAS303S) - 230 VOLT
TE02658-115/7.5 TA02658-1 PAD HEAT ELEMENT (TAS304)
TE02658-230/7.5 TA02658-2 PAD HEAT ELEMENT (TAS304) - 230V
TE02659-115/240 TA02659-1 PAD HEAT ELEMENT (TAS305)
TEO02660-115/240 TA02660-1 PAD HEAT ELEMENT (TAS305A)
TE02660-230/240 TA02660-2 PAD HEAT ELEMENT (TAS305A) - 230 VOLT
TE02661-115/10 TA02661-1 PAD HEAT ELEMENT (TAS306 306A 307)
TE02661-230/10 TA02661-2 PAD HEAT ELEMENT (TAS306 306A 307) INCLUDES PRESSURE
BLOCK - 230 VOLT
TE02664-115/50 TA02664-1 PAD HEAT ELEMENT (TAS311)
TE02667-115/37 TA02667-1 PAD HEAT ELEMENT (TAS313)
TE02668-115/45 TA02668-1 PAD HEAT ELEMENT (TAS313A)
TE02668-230/45 TA02668-2 PAD HEAT ELEMENT (TAS313A) - 230V
TE02669-115/60 TA02669-1 PAD HEAT ELEMENT (TAS314)
TE02669-230/60 TA02669-2 PAD HEAT ELEMENT (TAS314) - 230V
Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1
June 02, 2023 HC-SL-61-375

Page 36 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375
Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description
Part Number Part Number
TE02670-115/50 TA02670-1 PAD HEAT ELEMENT (TAS314A)
TE02671-115/57 TA02671-1 PAD HEAT ELEMENT (TAS314S)
TE02672-115/37 TA02672-1 PAD HEAT ELEMENT (TAS315)
TE02672-230/37 TA02672-2 PAD HEAT ELEMENT (TAS315) - 230V
TE02673-115/28 TA02673-1 PAD HEAT ELEMENT (TAS315A)
TE02674-115/278 TA02674-1 PAD HEAT ELEMENT (TAS316)
TE02675-115/95 TA02675-1 PAD HEAT ELEMENT (TAS317)
TE02675-230/95 TAE02675-2 PAD HEAT ELEMENT (TAS317) W/SOCKET CONNECTOR -
230 VOLT
TE02678-115/50 TA02678-1 PAD HEAT ELEMENT (TAS320)
TE02680-115/45 TA02680-1 PAD HEAT ELEMENT (TAS322)
TE02681-115/160 TA02681-1 HEAT ELEMENT, PAD, 115V, W/SOC
TE02682-115/13 TA02682-1 PAD HEAT ELEMENT (TAS324)
TE02683-115/110 TA02683-1 PAD HEAT ELEMENT (TAS325)
TE02684-115/300 TA02684-1 PAD HEAT ELEMENT (TAS326)
TE02685-115/280 TA02685-1 PAD HEAT ELEMENT (TAS327)
TE02686-115/150 TA02686-1 PAD HEAT ELEMENT (TAS328)
TE02687-115/150 TA02687-1 PAD HEAT ELEMENT (TAS329)
TE02688-115/20 TA02688-1 PAD HEAT ELEMENT (TAS330)
TE02688-230/20 TA02688-2 PAD HEAT ELEMENT (TAS330) - 230 VOLT
TE02690-115/20 TA02690-1 PAD HEAT ELEMENT (TAS332)
TE02691-115/40 TA02691-1 PAD HEAT ELEMENT (TAS333)
TE02692-115/130 TA02692-1 PAD HEAT ELEMENT (TAS334)
TE02692-115/130 TA2692-1 PAD (TAS334)
TE02693-115/50 TA02693-1 PAD HEAT ELEMENT (TAS335)
TE02694-115/50 TA02694-1 PAD HEAT ELEMENT (TAS336)
TE02695-115/100 TA02695-1 PAD HEAT ELEMENT (TAS337)
TE02696-115/180 TA02696-1 PAD HEAT ELEMENT (TAS338)
TE02697-115/120 TA02697-1 PAD HEAT ELEMENT (TAS339)
TE02698-115/15 TA02698-1 PAD HEAT ELEMENT (TAS340)
TEO02700-115/60 TA02700-1 PAD HEAT ELEMENT (TAS343)
TE02700-230/60 TA02700-2 PAD HEAT ELEMENT (TAS343) - 230 VOLT
TEO02703-115/65 TA02703-1 PAD HEAT ELEMENT (TAS347)
TE02704-115/40 TA02704-1 HEAT ELEMENT, PAD, 115V, W/CON
TEO02704-230/40 TA02704-2 HEAT ELEMENT, PAD, 230V, W/CON
TEO02705-115/350 TA02705-1 PAD HEAT ELEMENT (TAS349)
TE02706-115/224 TA02706-1 PAD HEAT ELEMENT (TAS350)
Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1
June 02, 2023 HC-SL-61-375

Page 37 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375
Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description
Part Number Part Number
TE02709-115/23 TA02709-1 PAD HEAT ELEMENT (TAS354)
TE02709-230/23 TA02709-2 PAD HEAT ELEMENT (TAS354) - 230V
TE02710-115/25 TA02710-1 PAD HEAT ELEMENT (TAS356)
TE02711-115/70 TA02711-1 PAD HEAT ELEMENT (TAS357)
TE02711-230/70 TA02711-2 PAD HEAT ELEMENT (TAS357) - 230V
TE02712-115/75 TA02712-1 PAD HEAT ELEMENT (TAS358)
TE02713-115/25 TA02713-1 PAD HEAT ELEMENT (TAS359)
TE02714-115/60 TA02714-1 HEAT ELEMENT, PAD, 115V, W/SOC
TE02715-115/18 TA02715-1 HEAT ELEMENT, PAD, 115V, W/SOC
TE02717-115/85 TA02717-1 PAD HEAT ELEMENT (TAS365)
TE02717-230/85 TA02717-2 PAD HEAT ELEMENT - 230 VOLT
TE02718-115/28 TA02718-1 PAD HEAT ELEMENT (TAS366)
TE02718-230/28 TA02718-2 PAD HEAT ELEMENT (TAS366) - 230 VOLT
TE02721-115/80 TA02721-1 PAD HEAT ELEMENT (TAS369)
TE02722-115/55 TA02722-1 PAD HEAT ELEMENT (TAS370)
TE02722-230/55 TA02722-2 PAD HEAT ELEMENT (TAS370) W/SOCKET CONNECTOR -
230 VOLT
TE02725-115/120 TA02725-1 PAD HEAT ELEMENT (TAS372)
TE02729-115/67 TA02729-1 PAD HEAT ELEMENT (TAS377)
TE02730-115/65 TA02730-1 PAD HEAT ELEMENT (TAS378)
TE02731-115/230 TA02731-1 PAD HEAT ELEMENT (TAS379)
TE02733-115/53 TA02733-1 PAD HEAT ELEMENT (TAS381)
TE02733-230/53 TA02733-2 PAD HEAT ELEMENT W/SOCKET CONNECTOR - 230 VOLT
TE02734-115/60 TA02734-1 PAD HEAT ELEMENT (TAS382)
TE02735-115/120 TA02735-1 PAD HEAT ELEMENT (TAS383)
TE02735-230/120 TA02735-2 PAD HEAT ELEMENT (TAS383) - 230 VOLT
TE02736-115/80 TA02736-1 PAD HEAT ELEMENT (TAS384)
TE02736-230/80 TA02736-2 PAD HEAT ELEMENT (TAS384)
TE02737-115/33 TA02737-1 PAD HEAT ELEMENT (TAS386)
TE02738-115/45 TA02738-1 PAD HEAT ELEMENT (TAS314S TAS387)
TE02739-115/120 TA02739-1 HEAT ELEMENT, PAD, 115V, W/CON
TE02739-230/120 TA02739-2 PAD HEAT ELEMENT (TAS312A TAS388) - 230V
TE02742-115/23 TA02742-1 PAD HEAT ELEMENT - 115 VOLT
TE02742-230/23 TA02742-2 PAD HEAT ELEMENT - 230 VOLT
TE02743-115/23 TA02743-1 PAD HEAT ELEMENT - 115 VOLT
TE02743-230/23 TA02743-2 PAD HEAT ELEMENT - 230 VOLT

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

June 02, 2023 HC-SL-61-375
Page 38 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TE02747-115/35 TA02747-1 PAD HEAT ELEMENT (ECB3 B4 MO1 LH ALT TO TE02669 DUE
TO DATA PLATE LOCATION)

TE02816-115/30 TA02816-1 PAD HEAT ELEMENT (TAS352)

TE02833-115/290 TA02833-1 PAD HEAT ELEMENT

TE02834-115/250 TA02834-1 PAD HEAT ELEMENT

TE02835-115/350 TA02835-1 PAD HEAT ELEMENT

TE02836-115/265 TA02836-1 PAD HEAT ELEMENT

TE02865-115/120 TA02865-1 PAD HEAT ELEMENT

TE02866-115/70 TA02866-1 PAD HEAT ELEMENT

TE02867-115/75 TA02867-1 PAD HEAT ELEMENT

TE02868-115/120 TA02868-1 PAD HEAT ELEMENT

TE02869-115/110 TA02869-1 PAD HEAT ELEMENT

TE02877-115/210 TA02877-1 PAD HEAT ELEMENT (PW120-121 PRGB)

TE02878-115/120 TA02878-1 PAD HEAT ELEMENT (PW120-121 PRGB TOP)

TE02928-115/80 TA02928-1 PAD HEAT ELEMENT 2 X 4.5

TE02928-230/80 TA02928-2 PAD HEAT ELEMENT 2 X 4.5

TE03056-115/75 TA03056-1 PAD HEAT ELEMENT

TEN2650-18-115/120 TA2650-18-1 PAD - UNTERMINATED (VIKING DHC-6 RH AGB)

TEN2650-18-230/120 TA2650-18-2 PAD - UNTERMINATED (VIKING DHC-6 RH AGB)

TEN2653-24-115/40 TA2653-24-1 PAD (TAS302) 24 INCH LONG LEAD - 115

TEN2653-32-115/40 TA2653-32-1 PAD - UNTERMINATED (VIKING DHC-6 OIL COOLER)

TEN2653-32-230/40 TA2653-32-2 PAD - UNTERMINATED (VIKING DHC-6 OIL COOLER)

TEN2656-36-115/80 TA2656-36-1 HEAT ELEMENT, PAD,UNTERMINATED

TEN2656-36-230/80 TA2656-36-2 HEAT ELEMENT, PAD, UNTERMINATED

TEN2656-42-115/80 TA2656-42-1 HEAT ELEMENT, PAD,UNTERMINATED

TEN2656-42-230/80 TA2656-42-2 PAD HEAT ELEMENT,UNTERMINATED

TEN2659-52-115/240 TA2659-52-1 HEAT ELEMENT, PAD,UNTERMINATED

TEN2659-52-230/240 TA2659-52-2 PAD - UNTERMINATED (VIKING DHC-6 PRGB)

TEN2661-36-115/10 TA2661-36-1 TEN2661-36-115/10,PAD 36IN

TEN2661-78-115/10 TA2661-78-1 HEAT ELEMENT, PAD,UNTERMINATED

TEN2661-78-230/10 TA2661-78-2 HEAT ELEMENT, PAD, UNTERMINATED

TEN2672-24-115/37 TA2672-24-1 PAD - UNTERMINATED, 24 INCH LEAD - 115

TEN2672-24-230/37 TA2672-24-2 PAD - UNTERMINATED, 24 INCH LEAD - 230

TEN2673-18-115/28 TA2673-18-1 HEAT ELEMENT, PAD, 115V

TEN2673-18-230/28 TA2673-18-2 HEAT ELEMENT, PAD, 230V

TEN2673-24-115/28 TA2673-24-1 HEAT ELEMENT, PAD, UNTERMINATED

TEN2673-24-230/28 TA2673-24-2 HEAT ELEMENT, PAD, UNTERMINATED

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

June 02, 2023

Table 1

HC-SL-61-375
Page 39 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375
Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description
Part Number Part Number
TEN2675-24-115/95 TA2675-24-1 HEAT ELEMENT, PAD,UNTERMINATED
TEN2675-24-230/95 TA2675-24-2 HEAT ELEMENT, PAD, UNTERMINATED
TEN2675-42-115/95 TA2675-42-1 HEAT ELEMENT, PAD,UNTERMINATED
TEN2675-42-230/95 TA2675-42-2 PAD HEAT ELEMENT UNTERMINATED 42 INCH LEAD -
230 VOLT
TEN2686-72-115/150 TA2686-72-1 HEAT ELEMENT, PAD,UNTERMINATED
TEN2686-72-230/150 TA2686-72-2 PAD HEAT ELEMENT W/72IN LEAD - PIN CONNECTOR -
230 VOLT
TEN2687-72-115/150 TA2687-72-1 HEAT ELEMENT, PAD,UNTERMINATED
TEN2687-72-230/150 TA2687-72-2 PAD HEAT ELEMENT W/ 72 IN LEAD - NO CONNECTOR
230 VOLT
TEN2703-36-115/65 TA2703-36-1 HEAT ELEMENT, PAD,UNTERMINATED
TEN2703-36-230/65 TA2703-36-2 HEAT ELEMENT, PAD, UNTERMINATED
TEN2703-42-115/65 TA2703-42-1 HEAT ELEMENT, PAD,UNTERMINATED
TEN2703-42-230/65 TA2703-42-2 HEAT ELEMENT, PAD,UNTERMINATED
TEN2714-78-115/60 TA2714-78-1 HEAT ELEMENT, PAD,UNTERMINATED
TEN2714-78-230/60 TA2714-78-2 PAD HEAT ELEMENT, UNTERMINATED
TEN2715-36-115/18 TA2715-36-1 HEAT ELEMENT, PAD,UNTERMINATED
TEN2715-36-230/18 TA2715-36-2 HEAT ELEMENT, PAD,UNTERMINATED
TEN2730-24-115/65 TA2730-24-1 PAD - UNTERMINATED, 24 INCH LEAD - 115
TEN2730-24-230/65 TA2730-24-2 PAD - UNTERMINATED, 24 INCH LEAD - 230
TEN2733-24-115/75 TA2733-24-1 PAD HEAT ELEMENT W/ 24 INCH LEAD & NO CONNECTOR -
115 VOLT
TEN2733-24-230/75 TA2733-24-2 PAD HEAT ELEMENT W/ 24 INCH LEAD & NO CONNECTOR -
230 VOLT
TEN2734-48-115/60 TA2734-48-1 HEAT ELEMENT, PAD,UNTERMINATED
TEN2734-48-230/60 TA2734-48-2 HEAT ELEMENT, PAD,UNTERMINATED
TEN2743-36-115/65 TA2743-36-1 HEAT ELEMENT, PAD,UNTERMINATED
TEN2743-36-230/65 TA2743-36-2 HEAT ELEMENT, PAD, UNTERMINATED
TEN2743-42-115/65 TA2743-42-1 HEAT ELEMENT, PAD,UNTERMINATED
TEN2743-42-230/65 TA2743-42-2 HEAT ELEMENT, PAD,UNTERMINATED
TEN2833-72-115/290 TA2833-72-1 HEAT ELEMENT, PAD,UNTERMINATED
TEN2833-72-230/290 TA2833-72-2 HEAT ELEMENT, PAD,UNTERMINATED, 230V
TEN2834-36-115/250 TA2834-36-1 HEAT ELEMENT, PAD,UNTERMINATED
TEN2834-36-230/250 TA2834-36-2 HEAT ELEMENT, PAD,UNTERMINATED, 230V
TEN2835-72-115/350 TA2835-72-1 HEAT ELEMENT, PAD,UNTERMINATED
TEN2835-72-230/350 TA2835-72-2 HEAT ELEMENT, PAD,UNTERMINATED, 230V
TEN2836-36-115/265 TA2836-36-1 HEAT ELEMENT, PAD,UNTERMINATED

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

June 02, 2023 HC-SL-61-375
Page 40 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TEN2836-36-230/265 TA2836-36-2 HEAT ELEMENT, PAD,UNTERMINATED, 230V

TEN2867-60-115/75 TA2867-60-1 HEAT ELEMENT, PAD,UNTERMINATED

TEN2867-60-230/75 TA2867-60-2 HEAT ELEMENT, PAD,UNTERMINATED

TEN2868-36-115/120 TA2868-36-1 HEAT ELEMENT, PAD,UNTERMINATED

TEN2868-36-230/120 TA2868-36-2 HEAT ELEMENT, PAD,UNTERMINATED

TEN2923-48-115/65 TA2923-48-1 HEAT ELEMENT, PAD,UNTERMINATED

TEN2923-48-230/65 TA2923-48-2 PAD HEAT ELEMENT - UNTERMINATED

TEN2952-84-115/250 TA2952-84-1 HEAT ELEMENT, PAD,UNTERMINATED

TEN2952-84-230/250 TA2952-84-2 PAD HEAT ELEMENT W/84 IN LEAD - NO CONNECTOR
230 VOLT

TEN2953-72-115/300 TA2953-72-1 HEAT ELEMENT, PAD,UNTERMINATED

TEN2953-72-230/300 TA2953-72-2 PAD HEAT ELEMENT W/84 IN LEAD - NO CONNECTOR
230 VOLT

TEN2954-84-115/300 TA2954-84-1 HEAT ELEMENT, PAD,UNTERMINATED

TEN2954-84-230/300 TA2954-84-2 PAD HEAT ELEMENT W/84 IN LEAD - NO CONNECTOR
230 VOLT

TEN2964-72-230/225 TA2964-72-2 PAD HEAT ELEMENT W/84 IN LEAD - NO CONNECTOR
230 VOLT

TEN2965-72-230/240 TA2965-72-2 PAD HEAT ELEMENT W/72 IN LEAD - NO CONNECTOR
230 VOLT

TEN2969-24-115/90 TA2969-24-1 HEAT ELEMENT, PAD,UNTERMINATED

TEN2969-24-230/90 TA2969-24-2 PAD - UNTERMINATED (VIKING DHC-6 LH AGB)

TEN3166-42-115/80 TA3166-42-1 PAD - UNTERMINATED, 42 INCH LEAD - 115

TEN3179-24-115/40 TA3179-24-1 PAD - W/PIN CONNECTOR, 24 INCH LEAD - 115

TEN3179-32-115/40 TA3179-32-1 HEAT ELEMENT, PAD,UNTERMINATED

TEN3179-32-230/40 TA3179-32-2 PAD HEAT ELEMENT - W/ 32 INCH LEAD & PIN CONNECTOR -
230 VOLT

TEN3181-18-115/120 TA3181-18-1 HEAT ELEMENT, PAD,UNTERMINATED

TEN3181-18-230/120 TA3181-18-2 PAD HEAT ELEMENT - W/ 18 INC LEAD & NO CONNECTOR -
230 VOLT

TEN3215-18-115/40 TA3215-18-1 PAD - UNTERMINATED - 115

TEN3223-18-115/40 TA3223-18-1 PAD - UNTERMINATED - 115

TEN3227-115/100 TA3227-1 PAD - FLUID WARMER - 115

TEN3230-42-115/41 TA3230-42-1 PAD - UNTERMINATED, 42 INCH LEAD - 115

TEN3266-28/818 TA3266-28 OIL COOLER LIP ASSEMBLY ELEMENT REPLACEMENT -
28 VOLT

TEN3267-115/60 TA3267-1 PAD - UNTERMINATED - 115

TEN3349-72-115/150 TA3349-72-1 PAD - UNTERMINATED, 72 INCH LEAD - 115

TEN6015-22-240/450

TA6015-22-2C

PAD ELEMENT INDUSTRIAL -6 X 9

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

June 02, 2023

Table 1

HC-SL-61-375
Page 41 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis
Part Number

Hartzell
Part Number

Description

TEN6016-22-240/400

TA6016-22-2C

PAD ELEMENT INDUSTRIAL - 4 X 11

TENG6017-22-240/200

TA6017-22-2C

PAD ELEMENT INDUSTRIAL - 3 X 7

TEN6018-22-240/450

TA6018-22-2C

PAD ELEMENT INDUSTRIAL - 4.5 X 12

TEN6019-22-240/150

TA6019-22-2C

PAD ELEMENT INDUSTRIAL - 3 X 6

TENG6020-22-240/450

TA6020-22-2C

PAD ELEMENT INDUSTRIAL 1.5 X 33

TEN6021-30-240/770

TA6021-30-2C

PAD ELEMENT INDUSTRIAL - 6 X 38.5

TENG6022-18-240/40

TA6022-18-2C

PAD ELEMENT INDUSTRIAL - 2 X 6

TEN6025-22-240/300

TA6025-22-2C

PAD ELEMENT INDUSTRIAL - 4 X 11

TENG6027-06-12/20

TAG027-06/20

PAD ELEMENT INDUSTRIAL - 1 X 2.75

TENG6027-06-12/4

TAG027-06/4

PAD ELEMENT INDUSTRIAL - 1 X 2.75

TEN6028-30-480/1400

TA6028

PAD ELEMENT INDUSTRIAL - 8 X 38.5

TENG6029-06-115/275

TAG029-06-1

PAD ELEMENT INDUSTRIAL - 10 X 16

TEN6030-36-48/200

TAG030-36-48

PAD ELEMENT INDUSTRIAL - 10 X 16

TEN6030-36-48/200

TA6030-36-48*

PAD ELEMENT INDUSTRIAL - 10 X 16

TENG6032-36-48/100

TAG6032-36-48

PAD ELEMENT INDUSTRIAL - 12 X 6

TEN6032-36-48/100

TA6032-36-48*

PAD ELEMENT INDUSTRIAL - 12 X 6

TEN6033-36-50/100

TAG033-36-50

PAD ELEMENT INDUSTRIAL - 6 X 6

TEN6033-36-50/100

TA6033-36-50*

PAD ELEMENT INDUSTRIAL - 6 X 6

TEN6039-36-48/180

TAG039-36-48

HEAT ELEMENT, PAD,NON AIRCRAFT

TENG6049-48-12/10

TA6049-48-10

PAD ELEMENT INDUSTRIAL -2 X3 -12 S 10 WATT

TEN6049-48-12/35

TAG049-48-35

PAD ELEMENT INDUSTRIAL -2 X 3 -12 S 35 WATT

TEN6053-24-400/75

TA6053-24-4C

PAD ELEMENT INDUSTRIAL -6 X 9 - 400 S 75 WATTS

TEN6054-24-356/400

TAG054-24-3C

PAD ELEMENT INDUSTRIAL - 10 X 12 - 356 S 400 WATT

TEN6055-24-356/10

TA6055-24-3C

PAD ELEMENT INDUSTRIAL - 1.25 X 2.75 - 356 S 10 WATT

TENG6057-36-48/90

TA6057-36-48

PAD ELEMENT INDUSTRIAL - 4" X 6" - 48 90 WATT

TEN6058-36-12/15

TAG058-36-12

HEAT ELEMENT, PAD, INDUSTRIAL

TEN6059-60-48/225

TAG059-60-48

PAD ELEMENT INDUSTRIAL - 4" X 20" - 48 225 WATT

TEN6059-60-48/225

TA6059-60-48*

PAD ELEMENT INDUSTRIAL - 4" X 20" - 48 225 WATT

TENG6068-36-48/225

TAG068-36-48

HEAT ELEMENT, PAD

TEP2649-115/120 TA2649-1 PAD (TAS300) W/PIN CONNECTOR - 115
TEP2649-230/120 TA2649-2 PAD (TAS300) W/PIN CONNECTOR - 230
TEP2650-115/120 TA2650-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2650-230/120 TA2650-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2651-115/100 TA2651-1 PAD (TAS300B) W/PIN CONNECTOR - 115
TEP2651-230/100 TA2651-2 PAD (TAS300B) W/PIN CONNECTOR - 230
TEP2652-115/50 TA2652-1 PAD (TAS301) W/PIN CONNECTOR - 115
TEP2652-230/50 TA2652-2 PAD (TAS301) W/PIN CONNECTOR - 230

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

June 02, 2023

Table 1

HC-SL-61-375
Page 42 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TEP2653-115/40 TA2653-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2653-230/40 TA2653-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2653-24-115/40 TA2653-24-1P PAD (TAS302) W/PIN CONNECTOR - 115
TEP2653-24-230/40 TA2653-24-2 PAD (TAS302) W/PIN CONNECTOR - 230
TEP2655-115/90 TA2655-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2655-230/90 TA2655-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2656-115/80 TA2656-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2656-230/80 TA2656-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2657-115/70 TA2657-1 PAD (TAS303S) W/PIN CONNECTOR - 115
TEP2657-230/70 TA2657-2 PAD (TAS303S) W/PIN CONNECTOR - 230
TEP2658-115/7.5 TA2658-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2658-230/7.5 TA2658-2 HEAT ELEMENT, PAD, 230V W/PIN
TEP2659-115/240 TA2659-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2659-230/240 TA2659-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2660-115/240 TA2660-1 PAD (TAS305A) W/PIN CONNECTOR - 115
TEP2660-230/240 TA2660-2 PAD (TAS305A) W/PIN CONNECTOR - 230
TEP2661-115/10 TA2661-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2661-230/10 TA2661-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2661-36-115/10 TA2661-36-1P TEP2661-36-115/10,PAD-36IN
TEP2661-36-230/10 TA2661-36-2 TEP2661-36-230/10, PAD

TEP2664-115/50 TA2664-1 PAD (TAS311) W/PIN CONNECTOR - 115
TEP2664-230/50 TA2664-2 PAD (TAS311) W/PIN CONNECTOR - 230
TEP2667-115/37 TA2667-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2667-230/37 TA2667-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2668-115/45 TA2668-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2668-230/45 TA2668-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2669-115/60 TA2669-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2669-230/60 TA2669-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2671-115/57 TA2671-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2672-115/37 TA2672-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2672-230/37 TA2672-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2673-115/28 TA2673-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2673-230/28 TA2673-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2675-115/95 TA2675-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2675-230/95 TA2675-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2675-36-115/95 TA2675-36-1 PAD (TAS317) W/PIN CONNECTOR, 36 INCH LEAD - 115
TEP2675-36-230/95 TA2675-36-2 PAD (TAS317) W/PIN CONNECTOR, 36 INCH LEAD - 230

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 43 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TEP2677-115/61 TA2677-1 PAD - W/PIN CONNECTOR - 115
TEP2678-115/50 TA2678-1 PAD HEAT ELEMENT W/PIN CONNECTOR
TEP2678-230/50 TA2678-2 PAD HEAT ELEMENT - 230 VOLT, W/PIN CONNECTOR
TEP2679-115/90 TA2679-1 PAD - W/PIN CONNECTOR - 115
TEP2679-230/90 TA2679-2 PAD - W/PIN CONNECTOR - 230
TEP2680-115/45 TA2680-1 PAD (TAS322) W/PIN CONNECTOR - 115
TEP2680-230/45 TA2680-2 PAD (TAS322) W/PIN CONNECTOR - 230
TEP2681-115/160 TA2681-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2681-230/160 TA2681-2 HEAT ELEMENT, PAD, 230V, W/PIN

TEP2681-24-115/160

TAP2681-24-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2681-24-230/160

TAP2681-24-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2682-115/13

TA2682-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2682-230/13

TA2682-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2683-115/110

TA2683-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2683-230/110

TA2683-2

HEAT ELEMENT, PAD, 230V W/PIN

TEP2684-115/300

TA2684-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2684-230/300

TA2684-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2685-115/280

TA2685-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2685-230/280

TA2685-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2686-115/150

TA2686-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2686-230/150

TA2686-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2687-115/150

TA2687-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2687-230/150

TA2687-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2688-115/20

TA2688-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2688-230/20

TA2688-2

HEAT ELEMENT, PAD, 230V W/PIN

TEP2690-115/20

TA2690-1

PAD (TAS332) W/PIN CONNECTOR - 115

TEP2691-115/40

TA2691-1

PAD (TAS333) W/PIN CONNECTOR - 115

TEP2693-115/50

TA2693-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2693-230/50

TA2693-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2694-115/50

TA2694-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2694-230/50

TA2694-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2695-115/100

TA2695-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2695-230/100

TA2695-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2696-115/180

TA2696-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2696-230/180

TA2696-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2697-115/120

TA2697-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2697-230/120

TA2697-2

HEAT ELEMENT, PAD, 230V, W/PIN

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

June 02, 2023

HC-SL-61-375
Page 44 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis
Part Number

Hartzell
Part Number

Description

TEP2698-115/15

TA2698-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2698-230/15

TA2698-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2700-115/60

TA2700-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2700-230/60

TA2700-2

PAD HEAT ELEMENT - 230 VOLT

TEP2703-115/65

TA2703-1

PAD (TAS347) W/PIN CONNECTOR - 115

TEP2703-230/65

TA2703-2

HEAT ELEMENT, PAD, 230V W/PIN

TEP2704-115/40

TA2704-1

HEAT ELEMENT, PAD, 115V, W/CON

TEP2704-230/40

TA2704-2

HEAT ELEMENT, PAD, 230V, W/CON

TEP2705-115/350

TA2705-1

PAD (TAS349) W/PIN CONNECTOR - 115

TEP2705-230/350

TA2705-2

PAD (TAS349) W/PIN CONNECTOR - 230

TEP2706-115/224

TA2706-1

PAD (TAS350) W/PIN CONNECTOR - 115

TEP2706-230/224

TA2706-2

PAD (TAS350) W/PIN CONNECTOR - 230

TEP2709-115/23

TA2709-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2709-230/23

TA2709-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2710-115/25

TA2710-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2710-230/25

TA2710-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2711-115/70

TA2711-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2711-230/70

TA2711-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2712-115/75

TA2712-1

PAD (TAS358) W/PIN CONNECTOR - 115

TEP2712-230/75

TA2712-2

PAD (TAS358) W/PIN CONNECTOR - 230

TEP2713-115/25

TA2713-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2713-230/25

TA2713-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2714-115/60

TA2714-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2714-230/60

TA2714-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2714-36-115/60

TA2714-36-1

PAD (TAS360) W/PIN CONNECTOR, 36 INCH LEAD - 115

TEP2714-36-230/60

TA2714-36-2

PAD (TAS360) W/PIN CONNECTOR, 36 INCH LEAD - 230

TEP2715-115/18

TA2715-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2715-230/18

TA2715-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2717-115/85

TA2717-1

PAD (TAS365) W/PIN CONNECTOR - 115

TEP2718-115/28

TA2718-1

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2718-230/28

TA2718-2

HEAT ELEMENT, PAD, 230V, W/PIN

TEP2722-115/55

TA2722-1

PAD (TAS370) W/PIN CONNECTOR - 115

TEP2722-230/55

TA2722-2

PAD HEAT ELEMENT (TAS370) W/PIN CONNECTOR - 230 VOLT

TEP2730-115/65

TA2730-1

PAD (TAS378) W/PIN CONNECTOR - 115

TEP2730-230/65

TA2730-2

PAD (TAS378) W/PIN CONNECTOR - 230

TEP2731-115/230

TA2731-1/230

HEAT ELEMENT, PAD, 115V, W/PIN

TEP2731-230/230

TA2731-2/230

HEAT ELEMENT, PAD, 230V, W/PIN

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

HC-SL-61-375
Page 45 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TEP2733-115/53 TA2733-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2733-230/53 TA2733-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2734-115/60 TA2734-1 PAD (TAS382) W/PIN CONNECTOR - 115
TEP2735-115/120 TA2735-1 PAD (TAS383) W/PIN CONNECTOR - 115
TEP2735-230/120 TA2735-2 PAD (TAS383) W/PIN CONNECTOR - 230
TEP2736-115/80 TA2736-1 PAD (TAS384) W/PIN CONNECTOR - 115
TEP2736-230/80 TA2736-2 PAD (TAS384) W/PIN CONNECTOR - 230
TEP2737-115/33 TA2737-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2737-230/33 TA2737-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2738-115/45 TA2738-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2738-230/45 TA2738-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2739-115/120 TA2739-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2739-230/120 TA2739-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2740-115/120 TA2740-1 PAD - W/PIN CONNECTOR - 115
TEP2740-230/120 TA2740-2 PAD - W/PIN CONNECTOR - 230
TEP2741-115/25 TA2741-1 PAD HEAT ELEMENT - W/PIN CONNECTOR - 115 VOLT
TEP2741-230/25 TA2741-2 PAD HEAT ELEMENT - W/PIN CONNECTOR - 115 VOLT
TEP2742-115/23 TA2742-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2742-230/23 TA2742-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2743-115/23 TA2743-1 PAD - W/PIN CONNECTOR - 115
TEP2743-230/23 TA2743-2 PAD - W/PIN CONNECTOR - 230
TEP2833-115/290 TA2833-1 PAD - W/PIN CONNECTOR - 115
TEP2833-72-115/290 TA2833-72-1P PAD - 72 INCH LEAD, W/PIN CONNECTOR - 115
TEP2865-115/120 TA2865-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2865-230/120 TA2865-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2866-115/70 TA2866-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2866-230/70 TA2866-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2869-115/110 TA2869-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2869-230/110 TA2869-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2877-115/210 TA2877-1 PAD - W/PIN CONNECTOR (PW120-121 PRGB) - 115
TEP2877-230/210 TA2877-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2878-115/120 TA2878-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2878-230/120 TA2878-2 HEAT ELEMENT, PAD, 1230V, W/PIN
TEP2896-115/18 TA2896-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2896-230/18 TA2896-2 HEAT ELEMENT, PAD, 230V, W/PIN
TEP2897-24-115/35 TA2897-24-1 HEAT ELEMENT, PAD, 115V, W/PIN
TEP2897-24-230/35 TA2897-24-2 HEAT ELEMENT, PAD, 230V, W/PIN

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

June 02, 2023

Table 1

HC-SL-61-375
Page 46 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TEP2921-115/45 TA2921-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP2921-230/45 TA2921-2 HEAT ELEMENT, PAD, 230V, W/PIN

TEP2923-115/65 TA2923-1 PAD HEAT ELEMENT - UNTERMINATED

TEP2923-230/65 TA2923-2 PAD, HEAT ELEMENT, 230V, W/PIN

TEP2928-115/80 TA2928-1 PAD, HEAT ELEMENT, 115V, W/PIN

TEP2928-230/80 TA2928-2 PAD, HEAT ELEMENT, 230V, W/PIN

TEP2970-115/40 TA2970-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP2970-230/40 TA2970-2 PAD HEAT ELEMENT - (VIKING DHC-6 PFD OR MFD)

TEP2971-115/4 TA2971-1 PAD, HEAT ELEMENT, 115V, W/PIN

TEP2971-230/4 TA2971-2 PAD HEAT ELEMENT - (VIKING DHC-6 EMERGENCY LIGHTING
BATTERY)

TEP3033-115/25 TA3033-1 BAT PAD-5X3-115

TEP3033-230/25 TA3033-2 HEATING ELEMENT, BATTERY, 230V

TEP3035-115/220 TA3035-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3035-230/220 TA3035-2 PAD - W/PIN CONNECTOR - 230

TEP3045-28/60 TA3045-28 ELEMENT - W/PIN CONNECTOR - 28-

TEP3050-115/200 TA3050-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3050-230/200 TA3050-2 PAD - W/PIN CONNECTOR - 230

TEP3056-115/75 TA3056-1 PAD HEAT ELEMENT

TEP3056-230/75 TA3056-2 PAD HEAT ELEMENT -230 VOLT

TEP3070-115/20 TA3070-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3070-230/20 TA3070-2 PAD - W/PIN CONNECTOR - 230

TEP3096-115/75 TA3096-1 PAD - W/PIN CONNECTOR - 115

TEP3136-115/52 TA3136-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3136-230/52 TA3136-2 HEAT ELEMENT, PAD, 230V, W/PIN

TEP3166-115/80 TA3166-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3166-230/80 TA3166-2 HEAT ELEMENT, PAD, 230V, W/PIN

TEP3175-115/150 TA3175-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3175-230/150 TA3175-2 PAD HEAT ELEMENT - W/PIN CONNECTOR - 230 VOLT

TEP3176-115/80 TA3176-1 PAD HEAT ELEMENT - W/PIN CONNECTOR - 115 VOLT

TEP3176-230/80 TA3176-2 PAD HEAT ELEMENT - W/PIN CONNECTOR - 230 VOLT

TEP3178-115/15 TA3178-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3178-230/15 TA3178-2 HEAT ELEMENT, PAD, 230V, W/PIN

TEP3179-115/40 TA3179-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3179-230/40 TA3179-2 HEAT ELEMENT, PAD, 230V, W/PIN

TEP3179-24-115/40

TA3179-24-1P

HEAT ELEMENT, PAD, 115V, W/PIN

TEP3179-24-230/40

TA3179-24-2P

HEAT ELEMENT, PAD, 230V W/PIN

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

HC-SL-61-375
Page 47 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TEP3180-115/50 TA3180-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3180-230/50 TA3180-2 HEAT ELEMENT, PAD, 230V, W/PIN

TEP3181-115/120 TA3181-1 HEAT ELEMENT, PAD, 115V W/PIN

TEP3181-115/120 TA3181-1-P HEAT ELEMENT, PAD, 115V, W/PIN

TEP3181-230/120 TA3181-2 HEAT ELEMENT, PAD, 230V, W/PIN

TEP3190-115/120 TA3190-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3190-230/120 TA3190-2 HEAT ELEMENT, PAD, 230V, W/PIN

TEP3190-24-115/120 TA3190-24-1 HEAT ELEMENT, PAD, 115V

TEP3190-24-230/120 TA3190-24-2 PAD HEAT ELEMENT - W/ 24 INCH LEAD, NO CONNECTOR -
230 VOLT

TEP3197-115/160 TA3197-1 PAD - W/PIN CONNECTOR - 115

TEP3198-115/140 TA3198-1 PAD - W/PIN CONNECTOR - 115

TEP3201-115/500 TA3201-1 PAD - W/PIN CONNECTOR - 115

TEP3201-230/500 TA3201-2 PAD HEAT ELEMENT W/PIN CONNECTOR - 230 VOLT

TEP3202-115/500 TA3202-1 PAD - W/PIN CONNECTOR - 115

TEP3202-230/500 TA3202-2 PAD HEAT ELEMENT W/PIN CONNECTOR - 115 VOLT

TEP3203-115/180 TA3203-1 PAD HEAT ELEMENT W/PIN CONNECTOR - 115 VOLT

TEP3203-230/180 TA3203-2 PAD HEAT ELEMENT W/PIN CONNECTOR - 115 VOLT

TEP3204-115/20 TA3204-1 PAD - W/PIN CONNECTOR - 115

TEP3204-230/20 TA3204-2 PAD HEAT ELEMENT W/PIN CONNECTOR - 230 VOLT

TEP3205-115/50 TA3205-1 PAD HEAT ELEMENT W/PIN CONNECTOR - 115 VOLT

TEP3205-230/50 TA3205-2 PAD HEAT ELEMENT W/PIN CONNECTOR - 230 VOLT

TEP3206-115/150 TA3206-1 PAD HEAT ELEMENT W/PIN CONNECTOR - 115 VOLT

TEP3206-230/150 TA3206-2 PAD HEAT ELEMENT W/PIN CONNECTOR - 230 VOLT

TEP3207-115/260 TA3207-1 PAD HEAT ELEMENT W/PIN CONNECTOR - 115 VOLT

TEP3207-230/260 TA3207-2 PAD HEAT ELEMENT W/PIN CONNECTOR - 230 VOLT

TEP3215-115/40 TA3215-1 PAD - W/PIN CONNECTOR - 115

TEP3215-230/40 TA3215-2 PAD HEAT ELEMENT - W/PIN CONNECTOR - 230 VOLT

TEP3222-115/120 TA3222-1 PAD - W/PIN CONNECTOR - 115

TEP3223-115/40 TA3223-1 PAD - W/PIN CONNECTOR - 115

TEP3230-115/41 TA3230-1 PAD - W/PIN CONNECTOR - 115

TEP3230-230/41 TA3230-2 PAD HEAT ELEMENT - W/PIN CONNECTOR - 230 VOLT

TEP3243-115/140 TA3243-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3243-230/140 TA3243-2 PAD HEAT ELEMENT - W/PIN CONNECTOR - 230 VOLT

TEP3258-115/300 TA3258-1 PAD - W/PIN CONNECTOR - 115

TEP3258-230/300 TA3258-2 PAD - W/PIN CONNECTOR - 230

TEP3259-115/200 TA3259-1 PAD - W/PIN CONNECTOR - 115

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

June 02, 2023

Table 1

HC-SL-61-375
Page 48 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TEP3259-230/200 TA3259-2 PAD - W/PIN CONNECTOR - 230

TEP3260-115/80 TA3260-1 PAD - W/PIN CONNECTOR - 115

TEP3260-230/80 TA3260-2 PAD - W/PIN CONNECTOR - 230

TEP3269-28/60 TA3269-28 PAD - W/PIN CONNECTOR - 28- 60-WATT

TEP3269-28/60 TA3269-28* PAD - W/PIN CONNECTOR - 28- 60-WATT

TEP3271-28/65 TA3271-28 PAD - W/PIN CONNECTOR - 28- 65-WATT

TEP3271-28/65 TA3271-28* PAD - W/PIN CONNECTOR - 28- 65-WATT

TEP3272-115/20 TA3272-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3272-230/20 TA3272-2 HEAT ELEMENT, PAD, 230V, W/PIN

TEP3274-115/250 TA3274-1 PAD HEAT ELEMENT - W/PIN CONNECTOR - 115 VOLT

TEP3274-230/250 TA3274-2 PAD HEAT ELEMENT - W/PIN CONNECTOR - 230 VOLT

TEP3275-115/110 TA3275-1 PAD HEAT ELEMENT - W/PIN CONNECTOR - 115 VOLT

TEP3275-230/110 TA3275-2 PAD HEAT ELEMENT - W/PIN CONNECTOR - 230 VOLT

TEP3286-115/90 TA3286-1 PAD HEAT ELEMENT W/PIN CONNECTOR - 115 VOLT

TEP3286-230/90 TA3286-2 PAD HEAT ELEMENT W/PIN CONNECTOR - 230 VOLT

TEP3295-115/70 TA3295-1 PAD HEAT ELEMENT W/PIN CONNECTOR - 115 VOLT

TEP3295-230/70 TA3295-2 PAD HEAT ELEMENT W/PIN CONNECTOR - 230 VOLT

TEP3296-115/20 TA3296-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3296-230/20 TA3296-2 PAD W/PIN CONNECTOR - 230

TEP3303-115/25 TA3303-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3303-230/25 TA3303-2 PAD HEAT ELEMENT W/PIN CONNECTOR - 230 VOLT

TEP3313-115/150 TA3313-1 PAD - W/PIN CONNECTOR - 115

TEP3313-230/150 TA3313-2 PAD HEAT ELEMENT - W/PIN CONNECTOR - 115 VOLT

TEP3319-115/45 TA3319-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3319-230/45 TA3319-2 HEAT ELEMENT, PAD, 230V, W/PIN

TEP3324-115/350 TA3324-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3324-230/350 TA3324-2 PAD HEAT ELEMENT - W/PIN CONNECTOR - 230 VOLT

TEP3325-115/350 TA3325-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3325-230/350 TA3325-2 PAD HEAT ELEMENT - W/PIN CONNECTOR - 230 VOLT

TEP3326-24-115/56 TAP3326-24-1 HEAT ELEMENT, PAD, 115V

TEP3326-24-230/65 TAP3326-24-2 PAD HEAT ELEMENT - W/ 24 INCH LEAD, NO CONNECTOR -
230 VOLT

TEP3327-115/200 TA3327-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3327-230/200 TA3327-2 PAD HEAT ELEMENT - W/PIN CONNECTOR - 230 VOLT

TEP3328-115/180 TA3328-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3328-230/180 TA3328-2 PAD HEAT ELEMENT - W/PIN CONNECTOR - 230 VOLT

TEP3329-115/40 TA3329-1 HEAT ELEMENT, PAD, 115V, W/PIN

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 49 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TEP3329-230/40 TA3329-2 PAD - W/PIN CONNECTOR - 230

TEP3330-115/120 TA3330-1 HEAT ELEMENT, PAD, 115V, W/PIN

TEP3330-230/120 TA3330-2 PAD HEAT ELEMENT - W/PIN CONNECTOR - 230 VOLT
TEP3338-115/60 TA3338-1 PAD HEAT ELEMENT

TEP3338-230/60 TA3338-2 PAD HEAT ELEMENT

TEP3339-115/60 TA3339-1 PAD HEAT ELEMENT

TEP3339-230/60 TA3339-2 PAD HEAT ELEMENT

TEP3343-115/50 TA3343-1 PAD - W/PIN CONNECTOR - 115

TEP3343-230/50 TA3343-2 PAD - W/PIN CONNECTOR - 230

TEP3346-115/200 TA3346-1 PAD - W/PIN CONNECTOR - 115

TEP3346-230/200 TA3346-2 PAD HEAT ELEMENT - W/PIN CONNECTOR - 230 VOLT
TEP3347-115/240 TA3347-1 PAD - W/PIN CONNECTOR - 115

TEP6035-120/300 TA6035-120 PAD ELEMENT INDUSTRIAL - 3 X 26
TEP6035-120/300 TA6035-120* PAD ELEMENT INDUSTRIAL - 3 X 26
TEP6037-120/200 TA6037-120 PAD ELEMENT INDUSTRIAL - 3 X 14
TEP6037-120/200 TA6037-120* PAD ELEMENT INDUSTRIAL - 3 X 14

TEP6056-12/10 TA6056-12 PAD ELEMENT INDUSTRIAL - 1 X 2.5-12 S 10 WATT
TES2970-115/40 TAS2970-1 PAD - (VIKING DHC-6 PFD OR MFD)

TES2971-115/4 TAS2971-1 PAD - (VIKING DHC-6 EMERGENCY LIGHTING BAT)
TG01056 TAG01056 GROMMENT, FIREPROOF

THP3094-001

TAHP3094-001

AVIONICS/CABIN HEATER

THP3094-500

TAHP3094-500

AVIONICS/CABIN HEATER

TJ02601-03 TAJ02601-03 3 LEAD JUNCTION

TJ02601-05 TAJ02601-05 5 LEAD JUNCTION

TJ02601-05-60N TAJ02601-05-60N 5 LEAD JUNCTION WITH 60 INCH LEADS

TJ02755-05 TAJ02755-05 5 LEAD JUNCTION - POWER

TJ02894-D TAJ02894-D 3 LEAD JUNCTION - ARRIEL

TK24A1-29 TAK24A1-29 SNAP DISC THERMOSTAT, 1/2 INCH, OPEN 85 F+/- 5
TL02752-2 TAL02752-2 3 WIRE FUSED LINK (MDA12 FUSE)

TLO2762 TAL02762 CABLE - THERMAL CONTROL - 1 LEAD W/PIN CONNECTOR

AND CPD

TL02762-24P

TAL02762-24P

CABLE - THERMAL CONTROL - 2 LEADS W/PIN CONNECTORS

TL02945 TAL02945 CABLE KIT, T-STAT

TL0O2976 TAL02976 CABLE - THERMAL CONTROL - 60 INCH LEADS W/PIN
CONNECTORS

TLO3013-3053 TAL-3053 CPD, DUAL FUSED LINK, SR22

TL03013-3053

TAL03013-3053

CPD,DUAL FUSED LINK,SPARE LEAD

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

HC-SL-61-375
Page 50 of 62

June 02, 2023



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375
Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis
Part Number

Hartzell
Part Number

Description

TLO3013-3055

TAL03013-3055

CPD, DUAL FUSED LINK, SPARE LEAD

TLO3013-3055

TAL03013-3055*

CPD, DUAL FUSED LINK, SPARE LEAD

TL03013-3161

TAL03013-3161

CPD,DUAL FUSED LINK,SPARE LEAD

TLO3013-3255

TAL03013-3255

CPD - DUAL FUSE LINK W/ SPARE LEAD

TLO3013-A TALO3013-A CPD, DUAL FUSED LINK

TLO3013-AK TAL03013-AK CPD, DUAL FUSED LINK KIT

TLO3013-B TA3013-B* CPD, VERSION (B) PROCESS

TLO3013-B TALO3013-B CPD,DUAL FUSED LINK,SPARE LEAD

TLO3013-B TALO3013-B* CPD,DUAL FUSED LINK,SPARE LEAD

TLO3013-BK TAL03013-BK CPD, DUAL FUSED LINK KIT

TLO3137 TAL03137 LIGHT, LED, 8MM, 115 VOLT

TLO3137 TALO3137* LED LIGHT, 8BMM PANEL MOUNTING - 115

TLO3217-A TALO03217-A CABLE - THERMAL CONTROL - 1 LEAD W/PIN CONNECTOR -
36 INCH.

TL03217-B TAL03217-B CABLE, THERMAL CONTROL, 2 LEAD

TL03217-C TAL03217-C CABLE, THERMAL CONTROL, 1 LEAD

TL03217-D TAL03217-D CABLE, THERMAL CONTROL, 2 LEAD

TLN3039-06-115 TALN-06-1 INDICATOR LIGHT, 115 VOLT

TLN3039-06-230 TALN-06-2 INDICATOR LIGHT, 230 VOLT

TLN3046-05 TALN3046-05 THERMAL CONTROL, +5°C, 6 INCH LEAD UNTERMINATED

TLP2762 TALP2762 CABLE ASSEMBLY, T-STAT, FUSED

TLP2762-24S TALP2762-24S DUAL BAT CABLE - W/THERMAL AND FUSE

TLP3039-06-115 TALP-06-1 INDICATOR LIGHT, 115 VOLT

TLP3039-06-230 TALP-06-2 INDICATOR LIGHT, 230 VOLT

TLP3046-05 TALP3046-05 THERMAL CONTROL, +5° C

TLP3046-10 TALP3046-10 THERMAL CONTROL, +10°C, 6 INCH LEAD PIN CONNECTOR

TLP3224-A TALP3224-A THERMAL CONTROL CABLE

TLP3235 TALP3235 THERMOSTAT, ADJUSTABLE

TLP3237 TALP3237 THERMAL CONTROL CABLE

TLP3251 TALP3251 THERMAL CONTROL, FIXED

TLRH4420 TALRH4420 LIGHT, LED, RED

TLS3039-06-115 TALS-06-1 INDICATOR,LED,8MM, W/S-115

TLS3039-06-230 TALS-06-2 INDICATOR,LED,8MM, W/S-230

TN02594 TAN02594 INSTRUCTION FOR CONNECTOR CONVERSION (CNA/CNE TO
DT SERIES)

TN02793 TAN02793 INSTRUCTION - CONNECTOR

TP02070-M-115

TAP02070-M-1

PMA:PLUG, FLUSH MNT,METAL, 115V

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

June 02, 2023 HC-SL-61-375

Page 51 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TP02070-S-115 TAP02070-S-1 FLUSH MOUNT PLUG - SYNTHETIC (FMP-AS) - 115V

TP02533-T-115 TAP02533-TA1 PLUG,FLUSH MOUNT,TEATHERED CAP

TP02758-18M-115 TAP02758-18M-1 CABLED POWER PLUG

TP02759-18M-230 TAP2759-18M-2 CABLED POWER PLUG

TP02770-115 TAP02770-1 POWER PLUG, 115V, FREE HANGING

TP02775-230 TAP02775-2 POWER PLUG - CEE 7/7 SCHUKO FREE HANGING - 230V

TP02822-T-230 TAP02822-TA2 PLUG,FLUSH MOUNT,TEATHERED CAP

TP02823-M-115 TAP02823-M-1 PLUG BRACKET W/PLUG

TP02829-230 TAP02829-2 ADAPTER, RECEPTACLE, 230 VOLT

TP02839-S-230 TAP02839-S-2 PLUG, FLUSH MOUNT, 230V

TP02872-115 TAP02872-1 RECEPTACLE FREE HANGING NEMA 5-15R - 115V

TP02873-115 TAP02873-1 FLUSH MOUNT RECEPTACLE - SYNTHETIC - 115V..WHITE

TP02980-230 TAP02980-2 SHORE POWER PLUG, 230 VOLT

TP02988-230 TAP02988-2 RECEPTACLE,FLUSH MOUNT, W/CAP

TP02989-115 TAP02989-1 RECEPTACLE,FLUSH MOUNT, W/CAP

TPE-X10R TAPE-X10R TAPE, SELF FUSING, RED, 10FT

TPS3129 TAPS3129 POWER CORD

TPZ-245 TAPZ-245 LOCKNUT, RIGID CONDUIT, 1 1/2 INCH ZINC CAST

TS02814-115 TAS02814-1 SYS FOR RR TRENT 900 AGB

TS02814-230 TAS02814-2 SYS FOR RR TRENT 900 AGB - 230

TS02818-115 TAS02818-1 SYS, (KAWAK TPI1331-12)

TS02853-115 TAS02853-1 SYS, (KAWAK RR250-B17F/2)

TS02874-115 TAS02874-1 HELI- SYS - EUROCOPTER EC155 WITH ARRIEL 2C2 - 115

TS02874-230 TAS02874-2 HELI- SYS - EUROCOPTER EC155 WITH ARRIEL 2C2 - 230

TS02884-115 TA2884-1 CONTINENTAL 4 CYLINDER ENGINE PREHEAT SYSTEM -
CESSNA SKYCATCHER - 115 VOLT

TS02884-230 TA2884-2 CONTINENTAL 4 CYLINDER ENGINE PREHEAT SYSTEM -
CESSNA SKYCATCHER - 230 VOLT

TS02901-115 TAS02901-1 ROTAX 912 SYS FOR TWIN (TECNAM P2006T)

TS02901-230 TAS02901-2 ROTAX 912 SYS FOR TWIN (TECNAM P2006T) - 230

TSAPU-3090-115 TA3090-1 APU - GARRETT/HONEYWELL GTCP-85 (B737-200) - 115

TSAPU-3090-230 TA3090-2 APU - GARRETT/HONEYWELL GTCP-85 (B737-200) - 230

TSB2800 TA2800 BATTERY HEAT INSTALLATION KIT

TSB2800 TA2800-2 TWO BATTERY HEAT INSTLKIT

TSB2800-1 TA2800-1 ONE BATTERY HEAT INSTLKIT

TSB2800-3 TA2800-3 THREE BATTERY HEAT INSTL KIT

TSB3146-115 TA3146-1 BAT - CUB CRAFTERS TOP CUB - 115

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 52 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TSBPC12-3115-115-PL TA3115-1-PL PMA: BATTERY PREHEAT KIT, 115V
TSBPC12-3115-230-PL TA3115-2-PL PMA:BATTERY HEAT KIT, 230V

TSBPC24-3310-115 TA3310-1 BAT FOR PILATUS PC-24 - 115

TSBPC24-3310-230 TA3310-2 BAT FOR PILATUS PC-24 - 230

TSF3165 TASF3165 PMA:AV/CABIN HEAT KIT, CIRRUS

TSF3236-115 TASF3236-1 DHC-6 IDUER - 115

TSF3241 TASF3241 AV/CABIN HEAT KIT, CIRRUS

TSFB737-3277-115 TA3277-1 FIXED WING W/BAT - BOEING 737 - PW JT8D SERIES - 115
TSFB737-3277-230 TA3277-2 FIXED WING WI/BAT - BOEING 737 - PW JT8D SERIES - 230
TSFC208B-3049-115 TA3049-1 PMA:PREHEAT KIT,TURB ENG., 115V

TSFC208B-3049-230 TA3049-2 PMA:PREHEAT KIT,TURB ENG.,230V

TSFDHC6-2972-115 TA2972-1 PMA:PREHEAT KIT,TURB. ENG.115V

TSFDHC6-2972-230 TA2972-2 FIXED WING - TWIN OTTER DHC-6 400 PT6A-34 - 230
TSFGA8-3120-115 TA3120-1 AIRVAN GA8 SERIES-115

TSFGA8-3120-230 TA3120-2 AIRVAN GA8 SERIES-230

TSFKODIAK-3123-115 TA3123-1 PMA: AIRCRAFT PREHEAT KIT, 115V
TSFKODIAK-3123-230 TA3123-2 PMA: AIRCRAFT PREHEAT KIT, 230V
TSFPC12-3080-115-PL TA3080-1-PL PMA:PREHEAT KIT,TURB ENG.,115V
TSFPC12-3080-230-PL TA3080-2-PL PMA:PREHEAT KIT,TURB ENG.,230V
TSFPC12E-3084-115-PL TA3084-1-PL ENGINE PREHEAT KIT, 115V

TSFPC12E-3084-230-PL TA3084-2-PL ENGINE PREHEAT KIT, 230V

TSFPC12E-3264-115-PL TA3264-1-PL PMA:PREHEAT KIT,TURB.ENG.,115V
TSFPC12E-3264-230-PL TA3264-2-PL PMA:PREHEAT KIT,TURB.ENG.,230V

TSFPTL-3341-115 TA3341-1 FIXED WING - SUPER PETREL LS W/ ROTAX 912 IS - 115
TSFPTL-3341-230 TA3341-2 FIXED WING - SUPER PETREL LS W/ ROTAX 912 IS - 230
TSFQ400-2955-115 TA2955-1 PMA: PREHEAT KIT,DHC-8, 115V

TSFQ400-2955-230 TA2955-2 PMA: PREHEAT KIT,DHC-8, 230V

TSFSR18-3118-115 TA3118-1 CDC P/N 31055-001

TSFSR18-3118-230 TA3118-2 CDC P/N 31055-002

TSFSR20-3054-115 TA3054-1 PMA: ENGINE PREHEAT KIT, 115V

TSFSR20-3054-230 TA3054-2 PMA: ENGINE PREHEAT KIT, 230V

TSFSR20-3162-115 TA3162-1 PMA: 4 CYL. PREHEAT KIT, 115V

TSFSR20-3162-230 TA3162-2 PMA: 4 CYL. PREHEAT KIT, 230V

TSFSR22-3052-115 TA3052-1 PMA: PREHEAT KIT, SR22, 115V

TSFSR22-3052-230 TA3052-2 PMA: PREHEAT KIT, SR22, 230V

TSHAS332-3306-115 TA3306-1 HELICOPTER PREHEAT KIT, 115V

TSHAS332-3306-230 TA3306-2 AIRBUS AS332/EC225-230V

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

June 02, 2023

Table 1

HC-SL-61-375
Page 53 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TSHAS350-3183-115 TA3183-1 PMA: HELI PREHEAT KIT, 115V
TSHAS350-3183-230 TA3183-2 PMA: HELI PREHEAT KIT,230V
TSHAS350-3184-115 TA3184-1 PMA: HELI PREHEAT KIT, 115V
TSHAS350-3184-230 TA3184-2 PMA: HELI PREHEAT KIT,230V
TSHAS350-3185-115 TA3185-1 PMA: HELICOPTER PREHEAT KIT, 115V
TSHAS350-3185-230 TA3185-2 PMA: HELICOPTER PREHEAT KIT, 230V
TSHAW109-3134-115 TA3134-1 PMA: HELI PREHEAT KIT, 115V
TSHAW109-3134-230 TA3134-2 PMA: HELI PREHEAT KIT, 230V
TSHAW119-2862-115 TA2862-1 PMA: HELI PREHEAT KIT, 115V
TSHAW119-2862-230 TA2862-2 PMA: HELI PREHEAT KIT, 230V
TSHB206-2365-115 TA2365-1 HELI PREHEAT KIT, 115V
TSHB206-2365-230 TA2365-2 HELI PREHEAT KIT, 230V
TSHB214ST-2602-115 TA2602-1 HELI- - BELL 214ST WITH GE CT7-2A - 115 (TAS300-61-DT)
TSHB214ST-2602-230 TA2602-2 HELI- - BELL 214ST WITH GE CT7-2A - 230
TSHB407-3083-115 TA3083-1 PMA: HELI PREHEAT KIT, 115V
TSHB407-3083-230 TA3083-2 PMA: HELI PREHEAT KIT, 230V
TSHB412-3132-115 TA3132-1 HELI- 212/412-115V #SR04132CH
TSHB412-3132-230 TA3132-2 HELI- 212/412-230V #SR04132CH
TSHB429-2584-115 TA2584-1 PMA: HELI PREHEAT KIT,115V
TSHB429-2584-230 TA2584-2 PMA: HELI PREHEAT KIT,230V
TSHBK117-2772-115 TA2772-1 TSHBK117-2772-115,BK117/EC145
TSHBK117-2772-230 TA2772-2 TSHBK117-2772-230,BK117/EC145
TSHBO105-2146-115 TA2146-1 HELI- -BO105- 115
TSHBO105-2146-230 TA2146-2 HELI- - BO105 - 230

TSHCG2-3225-115 TA3225-1 PMA: HELI PREHEAT KIT, 115V
TSHCG2-3225-230 TA3225-2 PMA: HELI PREHEAT KIT,230V
TSHEC120-2407-115 TA2407-1 PMA: HELI PREHEAT KIT,115V
TSHEC120-2407-230 TA2407-2 PMA: HELI PREHEAT KIT,230V
TSHEC130-3186-115 TA3186-1 PMA: HELI PREHEAT KIT,115V
TSHEC130-3186-230 TA3186-2 PMA: HELI PREHEAT KIT,230V
TSHEC135-2230-115 TA2230-1 PMA: HELI PREHEAT KIT, 115V
TSHEC135-2230-230 TA2230-2 PMA: HELI PREHEAT KIT, 230V
TSHEC135-3391-115 TA3391-1 HELICOPTER PREHEAT KIT, 115V
TSHEC135-3391-230 TA3391-2 HELI-SYS EC135 W/ARRIUS-230V
TSHEC145-2773-115 TA2773-1 PMA: HELICOPTER PREHEAT KIT, 115V
TSHEC145-2773-230 TA2773-2 PMA: HELICOPTER PREHEAT KIT, 230V
TSHEN280-2780-115 TA2780-1 TSHEN280-2780-115,F-28/280

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

June 02, 2023

Table 1

HC-SL-61-375
Page 54 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TSHEN280-2780-1-771-115 TA2780-1-7-1 F-28/280(3 CHT)-115

TSHEN280-2780-1-771-230 | TA2780-1-7-2 F-28/280(3 CHT)-230

TSHEN280-2780-230 TA2780-2 TSHEN280-2780-230,F-28/280

TSHEN480-2504-115 TA2504-1 HELI- - ENSTROM 480 - 115

TSHEN480-2504-230 TA2504-2 HELI- - ENSTROM 480 - 230

TSHMD500-3089-115 TA3089-1 PMA: HELI PREHEAT KIT, 115V

TSHMD500-3089-230 TA3089-2 PMA: HELI PREHEAT KIT, 230V

TSHMD902-3195-115 TA3195-1 HELI- W/ BAT - MD900/MD902 - 115
TSHMD902-3195-230 TA3195-2 HELI- W/ BAT - MD900/MD902 - 230
TSHR22-2798-115 TA2798-1 HELI- - ROBINSON R22 - 115

TSHR22-2798-230 TA2798-2 HELI- - ROBINSON R22 - 230

TSHR44-2778-115 TA2778-1 PMA: HELI PREHEAT KIT, 115V

TSHR44-2778-230 TA2778-2 PMA: HELI PREHEAT KIT,230V

TSHR66-3078-115 TA3078-1 PMA: HELI PREHEAT KIT, 115V

TSHR66-3078-230 TA3078-2 PMA: HELI PREHEAT KIT,230V

TSHS269-2508-115 TA2508-1 HELI- - SCHWEIZER/SIKORSKY 269/300 - STANDARD - 115
TSHS269-2508-230 TA2508-2 HELI- - SCHWEIZER/SIKORSKY 269/300 - STANDARD - 230
TSHS64-3193-115 TA3193-1 STC HELI- W/ BAT - S-64 SERIES - 115 #SR04343CH
TSHS64-3193-230 TA3193-2 STC HELI- W/ BAT - S-64 SERIES - 230 #SR04343CH
TSHSB47-2093-115 TA2093-1 HELI- - SCOTTS BELL 47 WITH LYCO-435 - 115
TSHSB47-2093-230 TA2093-2 HELI- - SCOTTS BELL 47 WITH LYCO-435 - 230
TSP1051-115 TA1051-1 PMA:OIL TANK PREHEAT KIT, 115V

TSP1051-230 TA1051-2 PMA:OIL TANK PREHEAT KIT, 230V
TSP4CYL-2513-115 TA2513-1 JABIRU 2200 - 115

TSP4CYL-2513-230 TA2513-2 JABIRU 2200 - 230

TSP4CYL-2579-115 TA2579-1 ENGINE PREHEAT KIT, 115V

TSP4CYL-2579-230 TA2579-2 ENGINE PREHEAT KIT, 230V

TSP4CYL-2925-115 TA2925-1 PMA: 4 CYL. PREHEAT KIT, 115V

TSP4CYL-2925-230 TA2925-2 PMA: 4 CYL. PREHEAT KIT, 230V

TSP4CYL-3001-115 TA3001-1 PMA: ENGINE PREHEAT KIT, 115V
TSP4CYL-3001-230 TA3001-2 PMA: ENGINE PREHEAT KIT, 230V
TSP4CYL-3093-115 TA3093-1 SMA ENGINE PREHEAT KIT - 4 CYLINDER - 115 VOLT
TSP4CYL-3093-230 TA3093-2 SMA ENGINE PREHEAT KIT - 4 CYLINDER - 230 VOLT
TSP4CYL-3172-115 TA3172-1 CD-230- 115

TSP4CYL-3172-230 TA3172-2 CD-230 - 230

TSP4CYL-3219-115 TA3219-1 TAE 125 SERIES - 115

TSP4CYL-3219-230 TA3219-2 TAE 125 SERIES - 230

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

June 02, 2023

Table 1

HC-SL-61-375
Page 55 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TSP4CYL-3254-115 TA3254-1 DELTAHAWK DHK180A4 - 115
TSP4CYL-3278-115 TA3278-1 ROTAX 912 - 115

TSP4CYL-3278-230 TA3278-2 ROTAX 912 - 230

TSP4CYL-3280-115 TA3280-1 ROTAX 914 - 115

TSP4CYL-3280-230 TA3280-2 ROTAX 914 - 230

TSP4CYL-3318-115 TA3318-1 UL POWER 4 CYL UL260 AND UL350 - 115
TSP4CYL-3318-230 TA3318-2 UL POWER 4 CYL UL260 AND UL350 - 230
TSP6CYL-2461-115 TA2461-1 JABIRU 3300 - 115

TSP6CYL-2461-230 TA2461-2 JABIRU 3300 - 230

TSP6CYL-2927-115 TA2927-1 PMA: 6 CYL PREHEAT KIT, 115V
TSP6CYL-2927-230 TA2927-2 PMA: 6 CYL PREHEAT KIT, 230V
TSP6CYL-3298-115 TA3298-1 RANGER 6-440 - 115

TSP6CYL-3298-230 TA3298-2 RANGER 6-440 - 230

TSP6CYL-3340-115 TA3340-1 UL POWER 390/520 - 115
TSP6CYL-3340-230 TA3340-2 UL POWER 390/520 - 230
TSP7CYL-3002-115 TA3002-1 JACOBS (L-4) R-755 - 115
TSP7CYL-3002-230 TA3002-2 JACOBS (L-4) R-755 - 230
TSP7CYL-3294-115 TA3294-1 AIR REPAIR: CONTINENTAL W670 - 115
TSP7CYL-3294-230 TA3294-2 AIR REPAIR: CONTINENTAL W670 - 230
TSP8CYL-1045-115 TA1045-1 8 CYLINDER PREHEAT KIT, 115V
TSP8CYL-1045-230 TA1045-2 8 CYL 10-720 - 230

TSP9CYL-2904-115 TA2904-1 PMA: ENGINE PREHEAT KIT, 115V
TSPOCYL-2904-230 TA2904-2 PMA: ENGINE PREHEAT KIT, 230V
TSTFE731-3200-115 TA3200-1 HONEYWELL (GARRETT) TFE731 SERIES - 115
TSTFE731-3200-230 TA3200-2 HONEYWELL (GARRETT) TFE731 SERIES - 230
TSTGEM601-3231-115 TA3231-1 PMA:PREHEAT KIT,TURB ENG.,115V
TSTGEM601-3231-230 TA3231-2 PMA:PREHEAT KIT,TURB ENG.,230V
TSTPE331-1050-115 TA1050-1 PMA: ENGINE PREHEAT KIT, 115V
TSTPE331-1050-230 TA1050-2 PMA: ENGINE PREHEAT KIT, 230V
TSTPT6A-2157-115 TA2157-1 PMA: ENGINE PREHEAT KIT, 115V
TSTPT6A-2157-230 TA2157-2 PMA: ENGINE PREHEAT KIT, 230V
TSTPT6A-3057-115 TA3057-1 PMA:PREHEAT KIT,TURB ENG.,115V
TSTPT6A-3057-230 TA3057-2 PMA:PREHEAT KIT,TURB ENG.,230V
TSTPT6A-3058-115 TA3058-1 PMA:PREHEAT KIT,TURB ENG.,115V
TSTPT6A-3058-230 TA3058-2 PMA:PREHEAT KIT,TURB ENG.,230V
TSTPW100-2209-115 TA2209-1 PMA: ENGINE PREHEAT KIT, 115V
TSTPW100-2209-230 TA2209-2 PMA: ENGINE PREHEAT KIT, 230V

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

June 02, 2023

Table 1

HC-SL-61-375
Page 56 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375
Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TSTPW100-2825-115 TA2825-1 PMA: ENGINE PREHEAT KIT, 115V

TSTPW100-2825-230 TA2825-2 PMA: PREHEAT KIT, TURBINE ENGINE ,230V

TSTPW500-2556-115 TA2556-1 PRATT AND WHITNEY PW500 SERIES (CITATION, PHENOM) -
15

TSTPW500-2556-230 TA2556-2 PRATT AND WHITNEY PW500 SERIES (CITATION, PHENOM) -
230

TSTPWJT15-2131-115 TA2131-1 P&W PWJT15D SERIES TURBOFAN S - 115

TSTPWJT15-2131-230 TA2131-2 P&W PWJT15D SERIES TURBOFAN S - 230

TSTRR250-3068-115 TA3068-1 RR250 SERIES TURBOPROP - 115

TSTRR250-3068-230 TA3068-2 RR250 SERIES TURBOPROP - 230

TT02628-115/100 TA02628-1/1C 3/8-24 CHT - 100 WATT - 115

TT02628-115/50 TA02628-1 THREADED HEAT ELEMENT,50W, 115V

TT02628-230/100 TA02628-2/1C 3/8-24 CHT - 100 WATT - 230

TT02628-230/50 TA02628-2 3/8-24 CHT - 50 WATT - 230

TT02630-J-115/50 TA02630-J-1 3/8-24 CHT DUAL PROBE - J TYPE GROUNDED - RED/WHT OR

BLK/YEL

TT02631-UJ-115/50

TA02631-UJ-1

3/8-24 CHT DUAL PROBE-JUG

TT02632-K-115/50 TA02632-K-1 3/8-24 CHT DUAL PROBE - K TYPE GROUNDED - RED/YEL
TT02633-UK-115/50 TA02633-UK-1 3/8-24 CHT DUAL PROBE - K TYPE UNGROUNDED - RED/YEL
TT02634-115/50 TA02634-1 THREADED HEAT ELEMENT,50W,115V
TT02634-230/50 TA02634-2 THREADED HEAT ELEMENT,50W,230V
TT02636-230/50 TA02636-2 1/4-20X1.25 (TAS104) - 50 WATT - 230
TT02639-115/40 TA02639-1/40 6MM-1.00X25 (TAS108/112) 40 WATT - 115
TT02639-115/50 TA02639-1 6MM-1.00X30 (TAS108) - 50 WATT - 115
TT02639-230/40 TA02639-2/40 6MM-1.00X25 (TAS108/112) - 40 WATT - 230
TT02639-230/50 TA02639-2 6MM-1.00X30 (TAS108) - 50 WATT - 230
TT02640-230/50 TA02640-2 10MM-1.00 CHT (TAS109) - 50 WATT - 230
TT02771-115/50 TA02771-1 THREADED HEAT ELEMENT W/SOCK
TT02771-230/50 TA02771-2 THREADED HEAT ELEMENT W/SOCK
TT02842-115/50 TA02842-1 LYC. SUMP 1-20, 50W-115V

TT02845-115/50 TA02845-1 5/16-24X.95 W/PIN CONNECTOR - 50 WATT - 115
TT02899-115/50 TA02899-1 HEAT ELEMENT(WING TANK)-115V
TTP2628-115/100 TA2628-1/100 THREADED HEAT ELEMENT, W/PIN
TTP2628-115/50 TA2628-1 THREADED HEAT ELEMENT, W/PIN
TTP2628-230/100 TA2628-2/100 THREADED HEAT ELEMENT, 3/8-24, 230V W/PIN
TTP2628-230/50 TA2628-2 THREADED HEAT ELEMENT, W/PIN
TTP2630-J-115/50 TA2630-J-1 THREADED HEAT ELEMENT, W/PIN
TTP2630-J-230/50 TA2630-J-2 3/8-24 CHT-JG-230-PIN

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

June 02, 2023 HC-SL-61-375

Page 57 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TTP2631-UJ-115/50 TA2631-UJ-1 3/8-24 CHT-JUG-115-PIN

TTP2632-K-115/50 TA2632-K-1 TTP2632-K-115/50,KG-CHT

TTP2633-UK-115/50 TA2633-UK-1P TTP2633-UK-115/50,CHT-KUG

TTP2634-115/50 TA2634-1 THREADED HEAT ELEMENT, W/PIN

TTP2634-230/50 TA2634-2 THREADED HEAT ELEMENT, W/PIN

TTP2636-230/50 TA2636-2 1/4-20X1.25 (TAS104) - 50 WATT - 230

TTP2639-115/40 TA2639-1/40 THREADED HEAT ELEMENT, W/PIN

TTP2639-115/50 TA2639-1 THREADED HEAT ELEMENT, W/PIN

TTP2639-230/40 TA2639-2/40 6MM-1.00X25 W/PIN CONNECTOR (TAS108/112) - 40 WATT
- 230

TTP2639-230/50 TA2639-2 THREADED HEAT ELEMENT, W/PIN

TTP2771-115/40 TA2771-1-40 THREADED HEAT ELEMENT, W/PIN

TTP2771-115/50 TA2771-1 THREADED HEAT ELEMENT, W/PIN

TTP2771-230/40 TA2771-2-40 THREADED HEAT ELEMENT, W/PIN

TTP2771-230/50 TA2771-2 THREADED HEAT ELEMENT, W/PIN

TTP2842-115/50 TA2842-1 50 WATT - 115

TTP2842-230/50 TA2842-2 50 WATT - 230

TTP2845-115/50 TA2845-1 5/16-24 W/PIN CONNECTOR - 50 WATT - 115

TTP2845-230/50 TA2845-2 5/16-24 W/PIN CONNECTOR - 50 WATT - 230

TTP2899-115/50 TA2899-1 50 WATT - 115

TTP2899-230/50 TA2899-2 50 WATT - 230

TTP2924-115/50 TA2924-1 THREADED HEAT ELEMENT, W/PIN

TTP2924-230/50 TA2924-2 THREADED HEAT ELEMENT, W/PIN

TTP2996-115/200 TA2996-1 THREADED HEAT ELEMENT, W/PIN

TTP2996-230/200 TA2996-2 THREADED HEAT ELEMENT, W/PIN

TTP3006-115/50 TA3006-1 THREADED HEAT ELEMENT, W/PIN

TTP3006-230/50 TA3006-2 THREADED HEAT ELEMENT, W/PIN

TTP3011-115/50 TA3011-1 5/16-18UNC X .950 W/PIN CONNECTOR - 50 WATT - 115

TTP3011-230/50 TA3011-2 THREADED HEAT ELEMENT - 5/16-18UNC X .950 W/PIN
CONNECTOR - 50 WATT - 230 VOLT

TTP3020-115/50 TA3020-1 1 1/2-18 LYC SUMP W/PIN-115V

TTP3038-115/40 TA3038-1/40 1/2 INCH 14NPTF , 7/8 INCH HEX - 40 WATT - 115

TTP3038-115/50 TA3038-1 THREADED HEAT ELEMENT, W/PIN

TTP3038-230/40 TA3038-2/40 1/2 INCH 14NPTF , 7/8 INCH HEX - 40 WATT - 230

TTP3038-230/50 TA3038-2 THREADED HEAT ELEMENT, W/PIN

TTP3229-115/50 TA3229-1 THREADED HEAT ELEMENT - M8 X 1.25 X 60MM W/PIN
CONNECTOR - 50 WATT - 115 VOLT

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

HC-SL-61-375
Page 58 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TTP3229-230/50 TA3229-2 THREADED HEAT ELEMENT - M8 X 1.25 X 60MM W/PIN
CONNECTOR - 50 WATT - 230 VOLT

TTP3281-115/75 TA3281-1 75 WATT - 115 WATER PUMP (M6-1.00 X 35)

TTP3281-230/75 TA3281-2 THREADED HEAT ELEMENT - 75 WATT - 230 VOLT WATER
PUMP (M6-1.00 X 35)

TTP3282-115/75 TA3282-1 50 WATT - 115 (M6-1.00 X 50)

TTP3282-230/75 TA3282-2 THREADED HEAT ELEMENT - 75 WATT - 230 VOLT OIL PUMP

TTP3283-115/50 TA3283-1 75 WATT - 115 OIL PUMP (M6-1.00 X 36)

TTS3020-115/50 TATS3020-1 1 1/2-18 LYC. SUMP SCREEN-115

TU01062 TAU01062 BRACKET, POWER PLUG

TU02535 TAU02535 WASHER, DELRIN

TU02615-115 TAU02615-1 PMA: PLACARD, 115 VOLT SYSTEM

TU02615-230 TAU02615-2 PLACARD, 230 VOLT SYSTEM

TU02782 TAU02782 ANCHOR, CABLE TIE

TU02788 TAU02788 BONDING SEALENT, 1 OZ TUBE

TU02793 TAU02793 4 WAY INDENT CRIMP TOOL

TU02846 TAU02846 SPACER, ALUMINUM, 1/4" ID

TU02846-03 TAU02846-03 SPACER, ALUMINUM, 1/4" ID

TU02846-03M TAU02846-03M SPACER, ALUMINUM, MODIFIED

TU02846-5 TAU02846-5 SPACER, ALUMINUM, 5/16" ID

TU02847 TAU02847 CABLE TIE

TU02848 TAU02848 FUSE, 12 AMP

TU02855 TAU02855 PRESSURE BLOCK

TU02864 TAU02864 CABLE TIE

TU02876 TAU02876 ANTI-SEIZE 2 GRAM PILLOW PACK

TU02905-05 TA02905 MACHINE SOCKET, SLOTTED

TU02905-05 TAU02905-05 SOCKET, 1/2 INCH, SLOTTED

TU02929 TAU02929 FIREWALL CONNECTOR KIT

TU02933 TAU02933 TAILBOOM CONNECTOR KIT

TU02948 TAU02948 TAILBOOM BRACKET ASSEMBLY

TU02968 TAU02968 BRACKET, CONNECTOR KIT, 5 PIN

TU02999 TAU02999 SHORE POWER KIT

TUO03016 TA03016 ADEL BRACKET

TU03016 TAU03016 BRACKET, SHORE PLUG

TU03017 TAU03017 BRACKET , SHORE PLUG (CONTINENTAL SANDCAST)

TU03018 TA03018 TETHERED CAP WITH SNAP RING

TU03018 TAU03018 CAP, TETHERED, WITH SNAP RING

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

Table 1

HC-SL-61-375
Page 59 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TU03030 TAU03030 CONNECTOR KIT,FIREWALL,14 CONT
TU03032 TA03032 MACHINE SOCKET, SLOTTED
TU03032 TAU03032 SLOTTED SOCKET - 11MM DEEP 6 SIDED 1/4 DRIVE
TU03036 TAU03036 WEBBING, REMOVE BEFORE FLIGHT
TUO03036-FLAG TAU03036-FLAG TAG, REMOVE BEFORE FLIGHT
TU03047 TAU03047 CONNECTOR KIT, TAILBOOM
TU03051 TAU03051 FUSE, 5 AMP

TUO03065 TAU03065 WASHER FOR LED LIGHT

TU03073 TAU03073 PMA: BACK CAP, PROTECTIVE

TU03076-05R

TAU03076-05R

TAPE, SELF FUSING, RED, 5FT

TU03076-10R

TAU03076-10R

TAPE, SELF FUSING, RED, 10FT

TUO03113 TAU03113 CABLE TIE

TU03119-01 TAU03119-01 PLACARD, AV/CABIN HEATER, DESC
TU03119-02 TAU03119-02 PLACARD, AV/CABIN HEATER, P/N
TU03119-03 TAU03119-03 PLACARD, AV/CABIN HEATER, SPEC
TU03125 TAU03125 CONNECTOR KIT,FIREWALL,6 CONT
TUO03126 TAU03126 DIELECTRIC GREASE, PACKET
TU03127 TAU03127 CONNECTOR KIT, 5 CONTACT
TUO03141 TAU03141 DUAL FUSE KIT, PANEL MOUNT
TUO03141-B TAU03141-B DUAL FUSE KIT, PANEL MOUNT
TU03145 TA03145 BRACKET, 8MM LED INDICATOR LIGHT
TU03145 TAU03145 BRACKET, 8MM, LED INDICATOR
TU03153 TA03153 BRACKET, DUAL PANEL FUSE
TU03153 TAU03153 BRACKET, DUAL PANEL FUSE

TU03158-012

TAU03158-012

TUBING, SHRINK, YELLOW, 1/8"

TU03158-025

TAU03158-025

TUBING, SHRINK, YELLOW, 1/4"

TU03158-050

TAU03158-050

TUBING, SHRINK, YELLOW, 1/2"

TU03167 TAU03167 SILICONE, UNCURED UNSPT

TU03168 TAU03168 SILICONE, MAT HEAVY, (.033)

TU03169 TAU03169 SILICONE, MAT LIGHT, (.028)

TU03170 TAU03170 BRACKET, AV/CABIN HEATER

TU03174 TAU03174 WASHER, STEPPED

TU03238 TAU03238 THERMOSTAT - ADJUSTABLE, INCLUDES CONTROL CABLE
TCO03246-A.

TU03239-01 TAU03239-01 STRIPS, DUAL LOCK, 1X1

TU03239-02 TAU03239-02 STRIPS, DUAL LOCK, 1X2

TU03253 TAU03253 THERMAL CONTROL

June 02, 2023

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number
Table 1

HC-SL-61-375
Page 60 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375

Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

Tanis Hartzell Description

Part Number Part Number

TU03261 TAUO03261 STUD MOUNT

TU03262 TAU03262 STUD MOUNT

TU03265 TAU03265 LOCKNUT, 1 1/2", ZINC PLATED

TU03273 TAU03273 SWITCH, DOOR

TU03299 TAU03299 BRACKET, OFFSET PLATE

TU03300 TAU03300 BRACKET - PLUG OFFSET PLATE
TU03321 TAU03321 CABLE KIT MOD - SINGLE PLUG

TU03323 TAU03323 AVI/CABIN HEAT KIT

TU03345 TAU03345 BRACKET KIT

TU20000-1 TAU20000-1 SPRAY BOTTLE, NOX-RUST, 8 OUNCE
TU20000-10 TAU20000-10 LABEL FOR KIT BOX (PRINTED)
TU20000-11 TAU20000-11 DOCUMENT PACKAGE AND BOX
TU20000-12 TAU20000-12 RED STREAMER, 300 FT ROLL
TU20000-13 TAU20000-13 ENGINE PRESERVED LABEL

TU20000-2 TAU20000-2 SPRAY BOTTLE, NOX-RUST, 12 OUNCE
TU20000-3 TAU20000-3 DESICCANT BAG, ACTIVATED CLAY TYPE DESICCANT
TU20000-4 TAU20000-4 ENGINE PRESERVATION KIT, 4 CYL
TU20000-5 TAU20000-5 DUCK TAPE, GREY, 1.88 IN X 10 YDS
TU20000-6 TAU20000-6 ENGINE PRESERVATION KIT, 6 CYL
TU20000-7 TAU20000-7 PRESERVATIVE FLUID, 1/2 GALLON
TU20000-8 TAU20000-8 NOX RUST PKL BOTTLE LABEL (PRINTED)
TU20000-9 TAU20000-9 LABEL, MIL-C-6529C TYPE1

TWC0001 TAWC0001 PMA: WEBSITE CARD

VCI-105 TAVCI-105 NOX-RUST VCI-105, 5 GALLON PAIL

VY 1470K31Y5SQ63V0 TAFSTACAP47 CEREMIC SUPPRESSION CAPACITOR- 47PF
W12S-P012 TAW12S-P012 WEDGE LOCK, 12 WAY PLUG
W23-X1A1G-10 TAW23-X1A1G CIRCUIT BREAKER, 10AMP, 240V

W2P TAW2P WEDGE LOCK, 2 RECEPTACLE,GREEN
W2P-P004 TAW2P-P004 WEDGE LOCK, 2 RECEPTACLE,GREEN
W2S-P012 TAW2S-P012 WEDGE LOCK, 2 CONT. PLUG,GREEN
W3P TAW3P WEDGE LOCK, 3 POSITION, GREEN
W3S-P012 TAW3S-P012 WEDGE LOCK, 3 POSITION, GREEN

W6S TAW6S WEDGE LOCK, 6 POSITION, ORANGE
wss TAWSS WEDGE LOCK, 8 POSITION

W8S-P012 TAW8S-P012 8 CONTACT PLUG WEDGE (MIN. ORDER 6)
Z151613 TAZI51613 HTX-14 HIGH TEMP,SHRINK TEFLON

Tanis/Hartzell Part Number Cross Reference - Sorted by Tanis part number

June 02, 2023

Table 1

HC-SL-61-375
Page 61 of 62



HARTZELL PROPELLER INC.

SERVICE LETTER

HC-SL-61-375
Tanis Aircraft Products/Hartzell Propeller Inc.
Part Number Cross-Reference

(Blank Page)

June 02, 2023 HC-SL-61-375
Page 62 of 62



	MAIN MENU

